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Show Attended Group? : No

Edit Attended Group? : No
Break time : 0

Group Marks : 20
Is this Group for Examiner? : No

General Awareness

Section Id : 275228243
Section Number : 1
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Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
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Enable Mark as Answered Mark for Review and Clear Response : Yes
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Sub-Section Id : 275228290
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 2752284522 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Humanyun’s Tomb is located in

Options :

1. # Patna

2. % Hyderabad

3. % Delhi

4. % Mumbai

Question Number : 1 Question Id : 2752284522 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



gAY T HHeR] A fya gl
Options :

1. % gedr

2. % ge[ETa

3. ¢ faeeit

4. % 493

Question Number : 2 Question Id : 2752284523 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following pair of dance — state is correct?

I. Chhau — West Bengal
II. Sattriya — Rajasthan

Options :

1. % Only I

2. % Only II

3. # BothIand II
4. #® Neither I nor II

Question Number : 2 Question Id : 2752284523 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T - X4 BT FHfARad # ¥ S 91 3 81 62

1. B3 — TigH s
11, AT — oI

Options :

1. ¥ Had I

2. % had Il

3. % [QUT I gl
4. % 1B



Question Number : 3 Question Id : 2752284524 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the size of Rs. 50 note of the Mahatma Gandhi (New) series?
Options :

1. # 69 mm x 137 mm

2. % 66 mm x 137 mm

3. % 66 mm x 135 mm

4, % 69 mm x 135 mm

Question Number : 3 Question Id : 2752284524 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

eI el sRaar (i) & 50 TUY & e &1 1 AU 52
Options :

1. % 69 UHUH. x 137 TH.UH,

2. % 66 THUH. x 137 TH.UH.

3. ¥ 66 THUH. x 135 THTH.

4, % 69 UHUH. x 135 TH.UH.

Question Number : 4 Question Id : 2752284525 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The total stock of money in circulation among the public at a particular point of time is called
Options :

1. % Money multiplier

2. # Reserve money

3. % Money supply

4. ¥ Narrow money

Question Number : 4 Question Id : 2752284525 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

ot ARy T A ST & S g Jae & FA LB S HI ol gl
Options :

1. % Hal Ul

2. % SRIf&d g

3. ¢ gargfd

4. % IPI0 gar

Question Number : 5 Question Id : 2752284526 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Earthworms breathe through their
Options :

1. ¥ skin

2. % lungs

3. % gills

4. ¥ eyes

Question Number : 5 Question Id : 2752284526 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HYIAT T F RN A BT
Options :

1. ¢ oddl

2. % Thpgl

3. % FAM

4. % 3fral

Question Number : 6 Question Id : 2752284527 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

In a concave mirror, when object is at C then size of image is
Options :

1. ¥ of same size

2. % highly diminished

3. # enlarged

4. # highly enlarged

Question Number : 6 Question Id : 2752284527 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gqd cUu H Ve ffg c R g, diufafdswrass . g1
Options :

1. ¢ GHFE gidl

2. % 3D BIeT gIdl

3. % faafefa grar

4. % e faafdd giar

Question Number : 7 Question Id : 2752284528 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following pair is correct?

L. Prokaryotic cells — single chromosome
II. Eukaryotic cells — more than one chromosome

Options :

l. % Only I

2. % Only II

3. % BothIand II
4. # Neither I nor II

Question Number : 7 Question Id : 2752284528 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

R A P T T 98 22

1. MpRAIfeH PHIRHT - b HHAH

1. JHAICH HIABT - Th I P HIHAAH
Options :

1. % PHadl

2. % Had Il

3. 1AUT ISl

4. % 1B

Question Number : 8 Question Id : 2752284529 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following pair is correct?

I. Permanent wind — westerlies
II. Local wind — loo

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 8 Question Id : 2752284529 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Foffad 7 3 &1 91 gm I8l 82

I QIR gg- - ufge
1. QI gar - ¢

Options :



1. % FHadl
2. % HAd I
3. ¢ [ QYT I gl
4. % 1B

Question Number : 9 Question Id : 2752284530 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following pair of forest — tree is correct?

I. Montane — Palm
II. Mangrove — Birches

Options :

1. % Only I

2. % Only II

3. % BothIandII
4. ¥ Neither I nor II

Question Number : 9 Question Id : 2752284530 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

a1 - U &1 gfefad o ¥ 19 a1 gm 98 82

L. Uddig - 18
=PI i
Options :

1. % Had |

2. % Had Il

3. % [ UGl
4. TIRIIATR I

Question Number : 10 Question Id : 2752284531 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Which of the following pair of alluvial soil is correct?

I. Bangar — New alluvial
II. Khadan — Old alluvial

Options :

1. % Only I

2. % Only II

3. % Both I andII
4. ¥ Neither I nor II

Question Number : 10 Question Id : 2752284531 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SIde gal &1 fFafafad & § &F 1 gw 98l 82

L 9TR - T Sdg
I1. W& — QR Slcllg
Options :

1. % Hadl
2. % HAd Il
3. % [ QYT ISl
4. TBIIATR I

Question Number : 11 Question Id : 2752284532 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year Satyagraha Movement was started?
Options :

1. % 1921

2. % 1906

3.9 1919



4. % 1915

Question Number : 11 Question Id : 2752284532 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
qARIE SMTaIaH g a9 & = gfT U
Options :
1. * 1921
2. % 1906
3.4 1919
4. % 1915

Question Number : 12 Question Id : 2752284533 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following river(s) was/were flowed through Magadha?

I. Yamuna
II. Ganga
II1. Satluj

Options :

1. * OnlyI

2. % Only II

3. % land III

4. % 1, Il and III

Question Number : 12 Question Id : 2752284533 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafaa & § oF @ FdAfear 9y 3 gl Igdt A
L gg-T



IL T

I Fddl
Options :

1. % Had 1
2. ¢ HAd I
3. % 19U
4. % [ 11T I

Question Number : 13 Question Id : 2752284534 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following pair(s) of movement and their year is/are correct?

I. Civil Disobedience Movement — 1930
II. Non-Cooperation and Khilafat Movement — 1921

Options :

1. % Only I

2. % Only II

3. % Both I and I
4. ® Neither I nor II

Question Number : 13 Question Id : 2752284534 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafied & @ &9 98 g sfiaia 3R 3% a4 & Jay J Tg! 8/8?

1. AT 3fasi sfigia - 1930
11. 3T 3R Ry d sfigra — 1921

Options :

1. % Bad 1
2. % BHad Il
R AGUIDIEGI




4. % ATEIIATSII

Question Number : 14 Question Id : 2752284535 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The E2025 initiative launched by WHO is against which disease?
Options :

1. ¥ Malaria

2. % TB

3. % Smallpox

4. % Polio

Question Number : 14 Question Id : 2752284535 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S, U4 3. GRI Ard &1 T Ugd 2025 [y STARt & faams g2
Options :

1. ¥ A

2. % Al

3. % dgd

4. % Giferdl

Question Number : 15 Question Id : 2752284536 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which movie won the Oscar 2021 for best picture?
Options :

1. # The Father

2. % Nomadland

3. % Mank

4. % Minari



Question Number : 15 Question Id : 2752284536 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S¥C TR o fo1T SiTehR 2021 H foo g fted A Sffam
Options :

1. % dBR

2. ¥ AHSAS

3. % 0%

4. % fAR

Question Number : 16 Question Id : 2752284537 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many people were awarded Padma Vibhushan in 20217
Options :

1. %5

2.9 7

3.%9

4. % 11

Question Number : 16 Question Id : 2752284537 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
2021 7 TaT fqymor feaa @l ! fear mar g2
Options :

1. %5

2.9 7

3.%9

4. % 11



Question Number : 17 Question Id : 2752284538 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following pair of schedule — contents of Indian constitution is correct?

I. Third — Validation of certain acts and regulations
II. Eleventh — Powers, authority and responsibilities of Panchayats

Options :

1. * OnlyI

2. % Only II

3. %* BothIand II
4. # Neither I nor II

Question Number : 17 Question Id : 2752284538 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR Ifaer &1 3rafey - sidasd o1 Fafifad & @ o a1 gm I8t 32

I AR - e sififradt ok fafamt @1 faftmraeo
1. R4l — Ul o Wil UfIeR $iR StReiRid
Options :

1. % Had |

2. ¢ HAd I

3. % [ QYT

4. % qEIIATR I

Question Number : 18 Question Id : 2752284539 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which article of Indian constitution is related with the borrowing by the government of India?
Options :

1. % 218

2. % 326



3. # 246
4.4 292

Question Number : 18 Question Id : 2752284539 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRATT WAL BT 14 T T3¢ HRA IBR gRT IUR I T Jafid 82
Options :

1. % 218

2. % 326

3. % 246

4. 292

Question Number : 19 Question Id : 2752284540 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In 2016 Olympics, India won a medal in

I. Badminton
II. Wrestling

Options :

1. ® Only I

2. % Only I

3. % Both I and II
4. % Neither I nor II

Question Number : 19 Question Id : 2752284540 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2016 AN H, 4R A T Uad S|

1. S8fied
1. $=cil



Options :

1. % FHadl
2. % Had Il
3. 1 AU Gl
4. % qIGIIATRIII

Question Number : 20 Question Id : 2752284541 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following pair of sportsperson — sports is correct?

I. Bhaichung Bhutia — Football
II. Rupinder Pal Singh — Hockey

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 20 Question Id : 2752284541 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RS - B & Pafiad § @ B a1 g

Options :

1. % Hadl
2. % HAd Il
3. [ QYT ISl
4. % AT I



General Ability

Group Number : 2

Group Id : 275228151

Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
General Ability

Section Id : 275228244

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 275228291

Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 2752284542 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Arrange the given words in the sequence in which they occur in the dictionary.

1. Aaerstd
2. Aaersted



3. Amquarine
4. Acgledhi
5. Acgledih

Options :

1. ¥ 12453
2. % 12435
3. % 12354
4, % 12345

Question Number : 21 Question Id : 2752284542 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Al Xsal P! g1 | 3 aTd HH & TR ford |

1. Aaerstd

2. Aaersted
3. Amquarine
4. Acgledhi
5. Acgledih

Options :

1. ¥ 12453
2. % 12435
3. % 12354
4. % 12345

Question Number : 22 Question Id : 2752284543 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A series is given with one term wrong. Select that wrong term from the given alternatives.

VACTUS, AUHNZM, FOMHEH, KIRBJA, PCWVOU
Options :

1. % AUHNZM

2. % KIRBJA



3. ¥ PCWVOU
4. ¥ FOMHEH

Question Number : 22 Question Id : 2752284543 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3gepd far man ], Forw § v e 7Tad g | fou e faswedt §f 9§ 39 ed ug & giHu|

VACTUS, AUHNZM, FOMHEH, KIRBJA, PCWVOU
Options :

1. ¥ AUHNZM

2. % KIRBJA

3. ¥ PCWVOU

4. ¥ FOMHEH

Question Number : 23 Question Id : 2752284544 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, select the odd word from the given alternatives.
Options :

1. # Yellow

2. % White

3. # Green

4. ¥ Alloy

Question Number : 23 Question Id : 2752284544 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy & fiu e fawedl & § faww wrsg &1 gl
Options :

1. % diar

2. % g



3. % &
4.« TOYUTg

Question Number : 24 Question Id : 2752284545 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related words from the given alternatives.

Palace : King :: Stable : ?
Options :

1. ¥ Horse

2. % Lion

3. * Pig

4. % Tiger

Question Number : 24 Question Id : 2752284545 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoRaa oy & fau e fawed! & 9§ Wafia sl &1 gl

He ol : oIl :: 3T : ?
Options :

1. ¢ 98l

2. % VR

3. % g3}

4, % dY

Question Number : 25 Question Id : 2752284546 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related letter pair from the given alternatives.

GROH : YFIX :: ?



Options :

1. # ACKD : WBYR
2. % AJND : WFQR
3. % LPQC : XKHO
4. ¥ DWBO : FSNU

Question Number : 25 Question Id : 2752284546 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRad vy @ fau e foswedl B 9 Hefdd 3ieR g &1 gHu|

GROH : YFIX :: ?
Options :

1. ¥ ACKD : WBYR
2. % AJND : WFQR
3. % LPQC : XKHO
4. ¥ DWBO : FSNU

Question Number : 26 Question Id : 2752284547 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘RACER’ is written as ‘46°, ‘USAGE’ is written as ‘54’. What is the code for ‘ESSAY” in that code language?
Options :

1. * 69

2.¥70

3. % 72

4, % 75

Question Number : 26 Question Id : 2752284547 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T ARy Bie W &, ‘RACER® BT <46’ R SIAT 8, ‘USAGE’ & 54’ oR@T ST 81 59 I HIWT & ‘ESSAY’ BT hlg T 82



Options :
1. ®* 69
2.9¥70
3. % 72
4. % 75

Question Number : 27 Question Id : 2752284548 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Eight players A, B, C, D, E, F, G and H are sitting around a circular table facing towards the centre (not necessarily in the same order). G is
fourth to the right of A. D is second to the left of A. E is second to the right of C. C is not the immediate neighbour of G or D. B is second to the
right of F. Who is third to the right of H?

Options :
1.* B
2.¥F
3. D
4. % G

Question Number : 27 Question Id : 2752284548 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

316 fIATET A, B, C, D, E, F, G TUT H $% B 3R T HXP T JATHR A9 & 36-116 96 §U S (SR 1ol DI SHTHAT BN G, A b gt
R TV WF R D, A%Wshrg{a%wm ?E C % Al IR M VMW I C, G T D HT Adhedd USRI 81 g B, F % e 3R
TR VMR 21 H P <Rl 3R R AR AL

Options :
1. % B
2.¥F
3. D
4. % G

Question Number : 28 Question Id : 2752284549 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

There are five people P1, P2, P3, P4 and P5. Each has a different profession among D1, D2, D3, D4 and D5 (not necessarily in the same order).
Each uses a different transport to go to the office among T1, T2, T3, T4 and TS5 (not necessarily in the same order). Person having profession D3
does not use T1 or T4. P2 profession is D1. P4 uses T2. P3’s profession is not D4 or D5. P5 does not use T3 or T5. Persons having profession D4
and D2 use transport TS5 and T3 respectively. Which of the following combination of person — profession — transport is correct?

Options :

1. % P5-D3-T4
2. % P2-D1-T4
3.9 P4-D3 -T2
4. % PS—-D5-TI

Question Number : 28 Question Id : 2752284549 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P1, P2, P3, P4 QYT P5 U @RT 8 | Y& H1 D1, D2, D3, D4 AU D5 H T T fAfid soaumyg § (sSR! 781 &1 3t 8 H &) | U T1, T2, T3,
T4 9T T5 H T T AN Tramard &1 UaT &1 § (S Ta! ot 34t % H 8)) | o9 sufad &1 o9y D3 8 98 T1 a7 T4 &1 YIRT gl

HAT S| P2 HTHII D1 1 P4, T2 BT YN HRAT & | P3 T TGT D4 T D5 a1 &1 P5, T3 TT TS5 BT UANT Tl Bl g | for safeaa &1
AI D4 TUT D2 § 98 PHT: T5 IUT T3 TarTd &1 YN &d ¢ | FafalRad 7 9 safad — soaam — ardrard &1 &4 91 Saie- 98l 82

Options :

1. % P5-D3-T4
2. % P2-D1-T4
3.9 P4-D3 -T2
4. % PS—-D5-TI

Question Number : 29 Question Id : 2752284550 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Area of 8 cylinders C1, C2, C3, C4, C5, C6, C7 and C8 is compared. No two cylinders have same area. Area of either C1 or C7 is the least. Area
of C4 is more than C1 but less than C5. Area of C6 is less than only C3 and C2. Area of C5 is less than C7 and C8. Which of the following
sequence is not possible?

Options :
1. # C1<C4<C5<C7<C8<CO6H<C2<C(C3
2.% C1<C4<C5<(C7<C8<CO6<C3<C2



3.9 C1I<C4<(C5<(C7<C3<C6<C2<C(C8
4, % Cl1<C4<C5<C8<C7<C6<C2<C3

Question Number : 29 Question Id : 2752284550 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

8 STl C1, C2, C3, C4, C5, C6, C7 TUT C8 & EFAHE ! gaTl 1 T g | Bis U 3l Sa1 o1 8 d GHMH el g1 ATl C1 AT C7 HT 8 d
TATH G| C4 BT &THA C1 T YD § A1 €5 T HFHA G| C6 BT AAHA had €3 TUTC2 A FHA G| C5 BT &FAHA C7 AT C8 A HA G|
frafoRad § § &9 91 3 H Y1 T8l &7

Options :

. % Cl<C4<C5<C7<C8<C6<C2<C3

2. % C1<C4<C5<C7<C8<C6<C3<C2

3.¥ Cl<C4<C5<C7<C3<C6<C2<C8

4, % C1<C4<C5<C8<C7<C6<C2<C3

Question Number : 30 Question Id : 2752284551 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:
I. No ground are land.
II. Some garden are land.

Conclusions:
I. Some land are garden.
II. Some land are ground.

Options :

1. ¥ Only conclusion I follows

2. % Only conclusion II follows

3. ¥ Both conclusions I and II follows

4. % Neither conclusion follows



Question Number : 30 Question Id : 2752284551 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
9 foU T Uy T 58 U 3R 3D 918 31 Bl R SR & (5wt U MU | AT Tyl &1 9! 4, 918 374 AH J1d a2t
Y forzrar 81t e o oik fsR feifa &% i fou o o1 O s, fou U wyi & SR &R gfaasa g

HY:
. 3is W M, YR T8 81
1L $3 T4, Y gl

fsam:
L 99 Y, T gl
1L 8 Y&, AT 5|

Options :

1. ¢ $ad (=B | STERU BT ®
2. % Had SHY 11 SR Bl &
3. % G ISRy [ T 11 SFJAR0T 6’ &
4. % DIz W FIpy SR 8 HRT §

Question Number : 31 Question Id : 2752284552 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:
I. All B are S.
II. No S are K.

Conclusions:

I. All S are B.

II. Some S are B.
III. All K are B.



Options :

1. # Both conclusions I and II follows
2. % Only conclusion III follows

3. % Only conclusion II follows

4. % Neither conclusion follows

Question Number : 31 Question Id : 2752284552 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3T T Uy & 8 U 3R I 918 31 HUHI IR YN & 56y 3T T4 § | 3T T 2= &1 981 A, 918 S8 Qg 1 9
3 forzrar 81t e o ofk fsR fReifa & i fou o o 3 s, fou U syl & sMyR &R gfaaa g

hY:
.94 B, s Bl
1. &% W s, K T 2l

fep.
I.Hﬂ-ﬁs,B%'!

I.$3 S, B3l
1L I K, B

Options :

1. % G fISem T 1 T 1T SFIERUT el &
2. % Had 5HY 111 3IERU HT §

3. ¢ Had fhY 11 IR0 FRl §

4. % DIz W} FIoHY SR T8 FRT §

Question Number : 32 Question Id : 2752284553 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If ‘A’ means ‘+’, ‘B’ means ‘—’, ‘C’ means ‘+’ and ‘D’ means ‘x’, then which of the following equation is false?

Note: For this question, discrepancy is found in question/answer. So,this



question 1s 1gnored for all candidates.
Options :

1. 5D14C28A12 = (-2)

2.22D2C4A11 =33

3. 56C28D17B36 = (-2)

4. 14D2B18A19=6

Question Number : 32 Question Id : 2752284553 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Al A BT 3 <+, B BT 31—, < BT 3+ TUT D’ BT 31 < B, ol AR # / i A1 FHiehR01 TTerel 82
Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. 5D14C28A12 = (-2)

2.22D2C4A11 =33

3.56C28D17B36 = (-2)

4. 14D2B18A19=6

Question Number : 33 Question Id : 2752284554 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the missing number from the given series.

10, 29, 85, 252, 7
Options :
1. % 754
2. % 756
3.9 752
4, % 758



Question Number : 33 Question Id : 2752284554 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraforiaa oy & €t 1S Yae & A g 3fw I Fifo|

10, 29, 85, 252, ?
Options :
1. # 754
2. % 756
3.9 752
4, % 758

Question Number : 34 Question Id : 2752284555 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many red are neither green nor rectangle?

Green

3
s{ 9 (2] 1]
f 4 &)
Rectangle
Red
Options :
1. %6
2. %8
3.% 10
4.9 4

Question Number : 34 Question Id : 2752284555 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fa A AT AT B B AT 8T 3mad 82

8
Hd \%Q/
Options :
1. %6
2. %8

3. % 10
4.9 4

Question Number : 35 Question Id : 2752284556 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Based on the given venn diagram, which of the following statement(s) is/are incorrect?

Even
\ A

8 2(3416

/| 6\
Odd Letters

I. Total number of odd are 10.
II. Number of even which are not letters, are 10.



Options :

1. ¥ Only I

2. % Only II

3. % BothIand II
4. # Neither I nor II

Question Number : 35 Question Id : 2752284556 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T T 39 S F YR R, Fofif@d & ¥ o9 91/A U= 98 el 282

qJH

\ A

8 2(3 4 116

/] ﬁ\
ICAL e

1. fov &1 oa = 10 3

I1. 98 TH S11 3&R g &, P! A=A 10 B
Options :

1. ¥ Hadl

2. % Had Il

3. % [qUT el

4. % 1B

Question Number : 36 Question Id : 2752284557 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If South-east becomes North-west and West becomes East, then what South-west will become?



Options :

1. # North

2. # East

3. % North-east
4. # South

Question Number : 36 Question Id : 2752284557 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tfe faiur-gd, STR-UMHH 81 Sl & a1 Ui, d 81 &Iell 8, ol <f&v-Ufs &1 81 Qe
Options :

1. ® 3R

2. % Ud

3. ¢ JWR-J4

4. % e

Question Number : 37 Question Id : 2752284558 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Prem walks 13 metres towards north. He turns right and walks 11 metres. He rotates by 90 degrees in anti-clockwise direction and walks 11
metres. He again rotates by 90 degrees in anti-clockwise direction and walks 4 metres. How far and in which direction is his starting point from
the finishing point?

Options :

1. ¥ 25 metres, South-west
2. % 33 metres, North-east
3. % 25 metres, North-east

4. ® 33 metres, South-west

Question Number : 37 Question Id : 2752284558 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T IR DI 3R 13 Hiex Iadl ¢ | 98 ST iR TSdl ¢ T 11 Hiex Iadl & | 98 aTH1dd G- # 90 f&3h & gidr g ot 11 Hiex 9adi g | 98



arTad = H o0 FEHt T g: IHaT & AU 4 Hex Iad ¢ | D! IR foig sifam foig ¥ fasart gt R aut fvw fe=m & g2
Options :

1. ¢ 25 HicR, i&or-uigy

2. % 33 HeR, IR-Td

3. % 25 Tex, SWR-yd

4. % 33 Hicy, i&uruigy

Question Number : 38 Question Id : 2752284559 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the wrong figure from the given series.

==

Al TR Al

Rl [T I A T R I A

Al

T R

4. %




Question Number : 38 Question Id : 2752284559 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRad uy 9, < Tt e & I 7Ted i @1 gl

Al TR A TR
T] |R Al 1) T
R |T Il |A T R J A
Options :
TR
1
. LA
1. #
Al
I R
2. ¥
R A
3. % I :
R
T
4, ® -

Question Number : 39 Question Id : 2752284560 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two opposite faces of a big cube are painted with red colour, two adjacent faces are painted with yellow colour and remaining faces are painted
with blue colour. 4 equal cuts are made on each axis of this big cube and some small cubes are obtained. How many small cubes will have one
face painted with blue colour and one face painted with yellow colour?



Options :
1. % 2
2. % 4
3. % 16
4.9 10

Question Number : 39 Question Id : 2752284560 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U% 98 T4 &1 o [Aumd baed! &l drd 11 T 1 ], & I B! ol Uil I 1 717 § 9T AN B! bl Hid ST A [T g1 59
S I D1 TP 318l TR 4 SRR HeTd T U § 9UT $S B¢ O U T MU § | T fham BI &7 8171 ot T wae -iid 11 9 I
g% BN U7 U Tiel 31§ T g% e

Options :

1. %2

2. % 4

3. % 16

4.4 10

Question Number : 40 Question Id : 2752284561 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
By folding the given paper, which of the following cube cannot be made?



dpRusRns g

Options :

1. # 1,1l and 111

2. % [, 1ll and IV

3. % LIland IV

4. % 1,11, 1l and IV

Question Number : 40 Question Id : 2752284561 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faQ T SIS P Higd R, Fyfeiad § ¥ &1 91 94 78 a1 S Jobal 82

dpRusRns g

M1 IV



Options :

1. % LI dUTIII

2. % LUIdUTIV
3% LIIAUTIV

4. ¢ LIL T YT IV
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Question Number : 41 Question Id : 2752284562 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the value of 10 + 5(4 — 2) x 6?
Options :

1. #® 12

2.% 8

3.% 6

4, ¥ 24

Question Number : 41 Question Id : 2752284562 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
10 = 5(4 — 2) x 6 BT HF T2
Options :

1. % 12

2.% 8

3.% 6

4. ¥ 24

Question Number : 42 Question Id : 2752284563 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the number 58579A is exactly divisible by 36, then what is the value of A?
Options :

1.¥2

2. % 4

3.% 6

4. % 8

Question Number : 42 Question Id : 2752284563 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

e T-HT 585794, 36 T TR 7RE AU §, 1 A BT AF R 82
Options :

1.¥2

2. % 4

3.% 6

4. % 8

Question Number : 43 Question Id : 2752284564 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following option is correct?
Options :

Cw 2>%>%2>
L o >80
s x Y2>Ya>8650
o x N2>3025>43>0

Question Number : 43 Question Id : 2752284564 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Foffad 7 3 o1 1 ud 82

Options :

B T



>8>
s w Y2>Ya>8650
L x V25302543530

Question Number : 44 Question Id : 2752284565 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If LCM of 8, 12 and K is 144, then what is the value of K?
Options :

1. #= 12

2.9 144

3. % 18

4. % 48

Question Number : 44 Question Id : 2752284565 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g 8, 12 IUT K &1 TYAH JHTITY 144 8, AN K BT A T 82
Options :

1. % 12

2.¥ 144

3. % 18

4. % 48

Question Number : 45 Question Id : 2752284566 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Four bells toll at intervals of 5, 10, 12 and 15 minutes respectively. If they start tolling together at 3, after what interval will they toll together and
how many time they toll together in 18 hours?

Options :

1. # 2 hours, 9 times
2. % 3 hours, 6 times
3. ¥ | hour, 18 times

4. # 30 minutes, 36 times

Question Number : 45 Question Id : 2752284566 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR 99 HHT: 5, 10, 12 TUT 15 e & SIaRTa IR Foid g | A 98 3 T 1Y FoH1 Y= HR«1 &, a1 98 fhd- THT RTd & §g Ud a1
oI YT 18 T | fhami! IR T 1Y Foivi?

Options :

1. % 29, 99R

2. % 3°¢, 69R

3.4 14cT, 18 §R

4. % 30 e, 36 TR

Question Number : 46 Question Id : 2752284567 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

15 percent of marked price is equal to the 18 percent of selling price. What is the discount percentage?
Options :

1. % 20

2.9 16.66

3. % 14.28

4. % 175

Question Number : 46 Question Id : 2752284567 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

3ifrd Hed &1 15 Ufa=Id fasha e & 18 Ufa=rd & THH § | §e Ufa=d &1 g2
Options :

1. % 20

2.9 16.66

3. % 14.28

4. % 17.5

Question Number : 47 Question Id : 2752284568 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which number is 20 percent less than 45 percent of 600?
Options :

1. % 224

2.% 216

3. % 230

4. % 208

Question Number : 47 Question Id : 2752284568 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I U BT 600 & 45 U= I 20 Tl=Td HH 82
Options :

1. % 224

2.9 216

3. % 230

4. % 208

Question Number : 48 Question Id : 2752284569 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Raman scores 30 percent marks in an exam but still fails by 30 marks. In order to pass the exam, 60 percent marks are necessary. What is the



maximum marks of the exam?
Options :
1. % 120
2.9 100
3. % 125
4. % 110

Question Number : 48 Question Id : 2752284569 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T TH TR B 30 UARrd 3idh U SRdl § IR fhR 4t 30 Sipl & 3rhiof €Y e 31 adten § il 817 & o, 60 U siw sifard g1
TRIE & SHfYHaH 3 T 57

Options :

1. % 120

2. ¥ 100

3. % 125

4. % 110

Question Number : 49 Question Id : 2752284570 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

An article is sold for Rs. 1992 at a loss of 17 percent. If it is sold at Rs. 2760, then what is the profit/loss?
Options :

1. * 12.5 percent loss

2. * 15 percent loss

3. % 12.5 percent profit

4. ¥ 15 percent profit

Question Number : 49 Question Id : 2752284570 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP I DI 17 Wa=rd BT 8T TR 1992 FUT HT 991 A1 8 | fS SH 2760 ST 6T o141 74T &, 1 ATH/ETH 1 82



Options :

1. % 125 gfa=ra g1
2. % 15 gfawrd 814
3. % 12.5 gfa=ra oy
4. 15 9faerd aH

Question Number : 50 Question Id : 2752284571 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The ratio of P, Q and R is 3 : 5 : 8 respectively. If their sum is 400, then what is the difference between P and R?
Options :

1. ¥ 125

2. % 75

3. % 100

4. % 50

Question Number : 50 Question Id : 2752284571 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P, Q TUT R T 0T SHHRT: 3 : 5 : 8 §1 TG ST ANT 400 B, < P AT R & S BT SR FT 62
Options :

1. ¥ 125

2. % 175

3. %100

4. % 50

Question Number : 51 Question Id : 2752284572 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The ratio of three numbers is 7 : 6 : 5. If the sum of the three numbers is 324, then what is the largest number among the three numbers?
Options :

1. % 18



2.9 126
3. %90
4. % 108

Question Number : 51 Question Id : 2752284572 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I et T U 72 6 : 5 ] | A AT TReAnatt &1 Al 324 B, A i SRemell § ¥ ged Sat IRe a1 82
Options :

1. % 18

2.9 126

3. %90

4. % 108

Question Number : 52 Question Id : 2752284573 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If a sum is invested at simple interest, then it becomes 5/2 of itself in 5 years. What is the annual rate of interest?
Options :

1. # 40 percent

2. % 35 percent

3. % 25 percent

4. % 30 percent

Question Number : 52 Question Id : 2752284573 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fe; T IMRT BT WIYRY TS TR a7 fosan ST 8, A1 98 5 aul § 6 &1 5/2 BT S § | ST Bt A1 &R o1 62
Options :

1. % 40 Ufa=rd

2. % 35 faRrd



3. % 25 Ufa=d
4.+ 30 Ufaerd

Question Number : 53 Question Id : 2752284574 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A train of length 220 metres crosses an electric pole in 11 seconds and crosses another train of the same length travelling in opposite direction in
8 seconds. What is the speed of the second train?

Options :

1. ¥ 35m/s
2. % 42 m/s
3. % 46 m/s
4. % 37m/s

Question Number : 53 Question Id : 2752284574 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

220 HieR Tl Ueb YerTIg! Ueb faqgd T ol 11 JhUs H UR Bl & a1 AuRTd fa=1m & Fer arelt GHI wals o1 g8l Jas! ol 8
YHUS A UR Rl 3 | T YerTe! i i T 82

Options :

1. ¢ 35 | LA

2. % WA

3. % 46 LA

4. % 37HLA.

Question Number : 54 Question Id : 2752284575 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Train 1 leaves A at 8 am and reaches B at 2 pm. Train 2 leaves B at 10 am and reaches A at 6 pm. At what approximate time do the 2 trains meet?
Options :

1. % 12:17 pm

2. % 1:12 pm



3. % 12:32 pm
4. % 11:58 pm

Question Number : 54 Question Id : 2752284575 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST 1, A ¥ 8:00 YAl W G § T B IR 2 3WRTE R Ugdd! ¢ | YerTe! 2, B ¥ 10 aig W Admad! g auT A IR 6 3RIE W Fdad
21 I XIiSat @y fobaq ot firerdht 82

Options :

1. ¢ 12:17 3T

2. % 1:12 WG

3. % 12:32 WG

4. % 11:58 WG

Question Number : 55 Question Id : 2752284576 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P and Q alone can do a work in 18 and 45 days respectively. They started the work together and P left after 3 days of start of work. Q completed
the remaining work. In how many days was the work completed?

Options :
1.9 375
2. % 395
3. % 34
4. % 36

Question Number : 55 Question Id : 2752284576 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P YT Q 3Hhdl U BT Pl HHTT: 18 TUT 45 f&7 A R Thd €1 3811 WY B Y= (b1 aUT P 1 & 81 & 3 3 91 B & e Tl
Q - T BT HI 3fdhal TH fobar| w1 fore fa & QR gsim

Options :
1.¥ 375




2. % 395
3. % 34
4. % 36

Question Number : 56 Question Id : 2752284577 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Diagonal of a square is 40 cm. What will be the area of square?
Options :

L% 4::::::#5 i<
2. % 400 cm?
3. % 1600 cm?
4. v 800 cm?

Question Number : 56 Question Id : 2752284577 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

s 97 1 faepuf 40 T 1. B 1 a7 T &= T g2

Options :

| % 40032 T
2. % 400 Q2
3. % 1600 9.1 2
4.+ 800 At 2

Question Number : 57 Question Id : 2752284578 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Radius of a solid hemisphere is 12 cm. If hemisphere is melted to form a cone whose base radius is equal to the radius of hemisphere, then what



will be the height of cone?
Options :

1. % 18 cm

2.9 24 cm

3. % 8cm

4, % 16 cm

Question Number : 57 Question Id : 2752284578 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP 3 eI Bt B 12 A, 51 afe s &1 fUaee U g o= T 8, Fords SR &1 B srefiial &1 s & sR1eR 6, d
(P DI GHdls T BT

Options :

1. % 18 Q.M.

2.¢ 247

3. % gl

4. % 1670,

Question Number : 58 Question Id : 2752284579 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The pie chart given below shows the population of seven states L, M, N, O, P, Q and R. Total population of all these seven states is 225000.
Population of a particular state is shown as a percent of total population of all these seven states.



J1 = Sum of population of state N and O
J2 = Difference between population of state M and N
J3 = Average population of states M, N, O and P

What is the value of (J1 +1J2 + J3)?
Options :

1. % 137350

2. ¥ 142875

3. % 147275

4. % 147350

Question Number : 58 Question Id : 2752284579 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

- fea T U A1 W IS L, M, N, O, P, Q TT R 1 ST &1 GRITdT 8 | 3 9T A1 o8l &1 e Sieiedt 225000 § | U ARy
T B ST &1 3 Tt AT ISl B SRe & Uia=id & &0 H g2 T g




J1 =T N 3R O B THI=AT BT AT
712 =TT M 3R N B SHIE & T 3R
13 =TT M, N, O TUT P P 3N TS

(J1 + 12 + J3) BT A HT 82
Options :

1. % 137350

2. % 142875

3. % 147275

4. % 147350

Question Number : 59 Question Id : 2752284580 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The bar graph given below shows the sales of five different products (in lakhs) A, B, C, D and E during 2001 and 2005 by a company.



425

38.5
g 29.75
135187
6.8 1.5
|_I 5-9 4-25
T T
B C D

8
A E
02001 m2005

Which of the following statement(s) is/are correct?

I. In 2001 Sales of product B is 56.67 percent more than the sales of product C.
II. In 2001 Sales of product A is 146.67 percent more than the sales of product E.
II1. Ratio of sales of product C in 2001 to the sales of product D in 2005 is 1 : 7.

Options :

1. % Only 1

2. % Only II

3. % Only III

4. % Both Il and 111

Question Number : 59 Question Id : 2752284580 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

! faar a1 gUs fod U S §RT 2001 TUT 2005 & SR G S{ET-3E IdTGI A, B, C, D 9UTE &t fawh! (@ral #) &1 gxiidr g1
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02001 m2005

Faffad & @ & 91/ $u= I8 8782

1. 2001 H ITE B 31 faeht I@Te ¢ &1 f9hT I 56.67 Ufawrd 31 g

IL. 2001 H IdTE A B 9! IS E B 9t T 146.67 Ufawrd 3ifds B
111. 2001 & ITG C H fagh! 712005 H IdTE D &1 foeh! J 3U 1 : 7
Options :

1. % ®Had I

2. % Had II

3. % Had I

4.« 11 YT 111 S

Question Number : 60 Question Id : 2752284581 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The bar graph given below shows the runs scored by five batsmen in a cricket match.



145

135

105

95

75

A B E D K

J1 = Average runs scored by all the five batsmen
J2 = Difference between runs scored by E and D
J3 = Difference between runs scored by C and B

What is the value of (J3 —J2 + J1)?
Options :

1. % 81

2. % 61

3. 71

4. % 9]

Question Number : 60 Question Id : 2752284581 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

= fear man <us g U fhdhe T H UTe oiaTsll gRT §H1E 7Y 3 &1 <RidT 8|
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11 = g4t T SeiaTSll §RT SHTT W 3iId 3
J2 = E YT D RI §TE U 39} & ALY AR
J3 = C dYT B §RT §ATT 7T I & A& 3R

(J3 —J2 +J1) BT HMHE FT 82

Options :
1. % 81
2. % 61
3.¥ 71
4. % 9]

General Hindi
Group Number : 4
Group Id : 275228153
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No

Edit Attended Group? : No



Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
General Hindi

Section Id : 275228246

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 16
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Section Marks : 20
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Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 2752284582 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f&u 77 arerRr 7 giford YRT {5 TR 1 379 &, A HifoTg|

eld! do HX T[T
Options :

1. ® TEREUD
2. % FHITSIYD
3. % fopar favigor
4. ¢ fowaIfeaiy®

Question Number : 61 Question Id : 2752284582 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
f&Q 7 areRr  giford YRT fh e TR 1 379 &, 1A Hifoig|

eld! do HX T[T
Options :

1. ® TEREUD
2. % JUATSIYD
3. % fopar favigor
4. ¢ fowaIfeaiy®

Question Number : 62 Question Id : 2752284583 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 774 reg &1 IUTA J1d BT
3T

Options :
1.+ 3(d
2. % 3l
3. % 74
4. % 3

Question Number : 62 Question Id : 2752284583 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f3T 71U <Teq T IUIT 1 DI

A

Options :
1. ¥ 3{d
2. % 3l
3. % 74




4. % 30

Question Number : 63 Question Id : 2752284584 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foT U a1y # Waifdd e &1 3T J1d HIfOE|

ge1al 1l TP TSR &1 U= 5|
Options :

1. % Hfgdarad I

2. ¢ YIaard I3

3. % Sffadrad T3

4. ® gAdrED I

Question Number : 63 Question Id : 2752284584 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foT ¢ a1 # Yaifdd Weq &1 W31 J1d HIfME|

e +f U UHR &1 3= g |
Options :

1. % fddarad A3

2. ¢ YIadrad G

3. % Sffddrae I

4. % ZoOdrddh I

Question Number : 64 Question Id : 2752284585 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fQ T areryiRy o foTT Iferd Wsg &1 99 Hiforu|

S @ g gl




Options :

1. % fof|

2. % MUY

3. ¢ axiil

4. % 3f[qERUNY

Question Number : 64 Question Id : 2752284585 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o U IreaiY & fore Ifeid e &1 T ifvid |
S 3@ g |

Options :

1. % Wil

2. % MUY

3. ¢ TR

4. % JffqERUTY

Question Number : 65 Question Id : 2752284586 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f3U 774 2ree &1 faeiie s I BT
SFATTH!

Options :

Question Number : 65 Question Id : 2752284586 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

f3U T4 rec 1 faeiie s T BT
ST

Options :

1. % {3t
2. % g
3.« g
4. % faumedt

Question Number : 66 Question Id : 2752284587 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fu MU wrec} H 3G ad- BT 99 B
Options :

1. % fqyi=ra

2. % faqi=ra

3. ¢ fdera

4. * fagri=ra

Question Number : 66 Question Id : 2752284587 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

few T 2reg} & Y acl=it 1 T9E P
Options :

1. % fauf=rd

2. % fagiad

3.  fdedmerd

4. % fqgiad

Question Number : 67 Question Id : 2752284588 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

o U IreaiY & fore Ifeid e &1 T g |
S o § R A 81 9

Options :
1. % 3Uffa
2. % JOH
3. ¢ U0y
4. % 34T

Question Number : 67 Question Id : 2752284588 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f&T TTQ areRITer o foTe Sfrd Weg 1 T HifoTg |

St oHTor 4 Rig T 81 9
Options :

1. % 3yfig

2. % gAY

3. ¢ UHY

4. % 34T

Question Number : 68 Question Id : 2752284589 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DI T e AT 3R gfeet T & Teh T Iga 82
Options :

1. % °rel

2. % R

3. ¢ QYUTHAT

4. % 81




Question Number : 68 Question Id : 2752284589 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I T TG AT 3R Gfedt T & Ueh T X8l 62
Options :

1. % °rel

2. % IR

3. ¢ QYHA!

4. ® TrS1

Question Number : 69 Question Id : 2752284590 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fT 7T 91T BT HRD ATd DITSIT|

PRI ERAUR
Options :

1. % guaH
2. % B

3. ¢ 3{Ulald
4. % P

Question Number : 69 Question Id : 2752284590 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f3T 1T 9719 &1 HRSD J1d BT |

U1 Us I R
Options :

1. % gyqH
2. % ®Y




3. ¢ 3UlqH
4, % PO

Question Number : 70 Question Id : 2752284591 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
faferiRad areil B 9 s aTed &1 o9+ Diforg|
Options :

1. % S P BIADR bl RIATSAT|

2. % S Pl Dbl BIADR |

3. % ] B hal [SADR RIATSAT|

4. ¥ S P HAl BIADR RIATSAT|

Question Number : 70 Question Id : 2752284591 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafaRad arel O ¥ Y a1 &1 994 Hifod|
Options :

1. % S P BIADR bl RASATSAT|

2. % g Pl bl BB I

3. % S Dl Hdl [SAD RIATST|

4. ¥ S Pl HAl BIADR RIATSAT|

Question Number : 71 Question Id : 2752284592 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frgfeRad arerl § 9 IR I 1d Hiferu|
Options :

1. ¢ R & g UR A 18] I

2. % TR YRR UG ot I G T

3. % 1 A1 G- GG AT R YT |



4. % XY YT T R -Te] g

Question Number : 71 Question Id : 2752284592 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
faferRad are & § TR a1 J1d BT
Options :

1. ¢ YR P Uga R A el U

2. % 3R Y- U ol AR 51 Y|

3. % Tl YR UG AT AR UG

4. % YRS UG R el Ug |

Question Number : 72 Question Id : 2752284593 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faT 7T arR & Iuged favmw fag &1 994 pifo |

JH ST Sied] a7 Hf 3y
Options :

1. % |

2.9

3. %

4. % 9

Question Number : 72 Question Id : 2752284593 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faU 7T arey T Iuged favm forg &1 994 Fifor|

q9 Sa-il Sled! 78T 4 31u
Options :
1. % |




2.¥)

3. %,

4. % 9

Question Number : 73 Question Id : 2752284594 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faU 7T are T Iuged favm forg &1 =994 Fifom|
7 377 fe el & IgHaTd &

Options :

1. % gl

2. % AT

3. % fowafeatys
4, ¢ YHdIddh

Question Number : 73 Question Id : 2752284594 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau U a1y & Iuged form fag &1 o= Fifor|
1 31 feweht % Teaare §

Options :

1. % Tl

2. % A

3. % foumfediys
4. ¢ JHdIdd

Question Number : 74 Question Id : 2752284595 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed oy & fou U aR fAwedl § 9, 39 fawed &1 999 o S fau 70 GgTak & 3 &1 a9§ ¥ ¥ oad Rl 5|




I P S T AT
Options :

1. % T Y TS T Bl
2. ¢ YA ARG BT

3. % QYT QM

4. % fod DI USHTT

Question Number : 74 Question Id : 2752284595 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, fiu o IR fawedl & 9, 39 faded o1 oo 3 ot f3T 7T geTer & 31 &1 a9y ¥U ¥ oJad HRal g |

T4 B S W AGHT
Options :

1. % Y Y ST Td Bl
2. ¢ YA ARIB HRAT

3. % YAYTSGHT

4. ® fod &I USHTT

Question Number : 75 Question Id : 2752284596 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad ue ), fou U IR fawedl & ¥, 39 fadmen &1 997 & 1 fou U geTark & 31 ol Ya9% U § odad Rl ¢ |

T 3R T TRE GBI
Options :

1. % Agdoid GHSMAI

2. % IO g
3. % §gd Wedl-Sled! faaR
4. ¢ TS H G BT 8T




Question Number : 75 Question Id : 2752284596 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefad ue ), fou U IR faweal & ¥, 39 fadmen &1 7997 & 51 fou U geTak & 31 ol Ya9% U § oJad Rl ¢ |

T 3R T TRE GBI
Options :

1. % HgagH JHH

2. % FUH gIHT

3. % §gd Wedl-Sled! faaR
4. ¢ G118 1 fad BT 8T

Sub-Section Number : 2
Sub-Section Id : 275228294
Question Shuffling Allowed : Yes

Question Id : 2752284597 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (76 to 80)

TS TSI a1 71 § | TTRIRT 1 eAYad g 4T U=l & Jal [ddhed g |

T & T TR -G §gd gL Il 311 § | SiTa- & &R &3 H o5 U JhIH U 81 714 & off g8 oita &1 9t gfaemt, 9uft o em #xa
g | 31Tol IR Aa St G31 & JA g1 g1 Shiad o &3 § Tad e shifddR] deH YaR &5 § 36T T § | 3 U Hid, 7Y 91eH 3R
S gfaemd ure b off %ﬁgﬁwgﬁw%ﬁvﬁwﬁ@w@rwm&qaob{dl%l%?lﬁ:{[%?&rraw@ﬁmmﬁfm@rﬂ

ToIRTS GRT Sgad I aﬁﬁw%wﬁ%ﬁwaw)%cuaﬁﬂcqmu PP DI T3 1| TP [AHT &7 =0 4 RUefT, MY Td WRBRI
TeyTaft & for fomam T Ut | 39 e TR SaR Ul YaR ATeq &1 9t S1aTd Rufa & ot 9918 911 519 IR Areqd fAwha g1 e | 1971
% T BT A TIHT &) Goi- HIIER] B! 39 ¢ I OIS a1 Tl 1972 H I[ETA §5 -0 B o+ TaR SHTd H shifd a1 4l 1996 TH
2T DI AT HIB! a9 T A AT & Ulex STU - Ugd! aR 1989 T Aep-MTd AR & gexae S -1 &1 TanT foban| an
2oooﬁszﬁfsa=ﬁaan§ﬁﬁsﬂﬁamwa;ﬁﬁmaﬁwmlﬁ&nﬁwﬂ|Wlﬁ&mﬁwﬂaﬁs?dummﬁwsmwwﬂa
HRA H Seic Haw! 3R YANTHdrel o T@ dral J g1 T8 g TR I1eq § 39T T 981 81 8ol 719 $cc g

Sub questions

Question Number : 76 Question Id : 2752284598 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
3TST TR fhaent g5t o A g3 82
Options :

1. ¢ HHal

2. % DI

3. % QY

4. % glayaf

Question Number : 77 Question Id : 2752284599 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gec So0 BT YANT fohw gfAafiet 3 feram um
Options :

1. % AR 3Hith Bl

2. ¢ Hop-Ma gafid

3. % ST Eteye 3 ey

4. % foct gfaRict

Question Number : 78 Question Id : 2752284600 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fT BT A 1971 AF Gl Goi HEER] B! Hc I SIS &1 U2
Options :

1. ¢ TSae R Uieidey woifte

2. % HILRA

3. % UM gfaRid

4. % THRT YRS

Question Number : 79 Question Id : 2752284601 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fhge ATeIH I IR ST | hifd 37 T i




Options :

1. ¥ CAC IS
2. % dIUY

3. % fRraf

4. ¥ SASIHD A

Question Number : 80 Question Id : 2752284602 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
U 7T TRIT=T T ST =MSSH a1 g
Options :

1. ¢ 3MYHD TR il

2. % HARMI 3R YISl

3. % HICR] Bl Aedin

4, % dIOY JgHAT

Question Id : 2752284597 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (76 to 80)

TS TR T 71 | TRIRT B eAYd e Ug Ul U=l & Jal [dded g |

T & Uy OR HTHd §gd g2 9l ST 8 | Siia- & 8% & H ds U8 b T 81 T € off g8 oita- 1 I+t Jfaemd, §ft SR ueH axd
g | 3Tol TR Aa St g1 & JAT g3 § 1 Shiad o &3 # Tay e shifddR] deH YaR &5 § 36T MU § | 3 U |id, 7Y e 3R
T3 gfAYTd T &R &t %@@W@W%Eﬁ?ﬁmlmmw@rwmmacmcu%|sawgeﬁﬂﬁwwﬁ@aﬁ%’ﬁﬂém

oI gRT HYF I ST o TR fayfaeerd & Hrgex] Sl AeafeT b 31 7% At 1 9T faore Ty &0 3 e, =Y 79 War
TRyT3ft o Ty Topam T Tl S99 UTe T So=g T TR H1eH! &1 9t Smurd fufa & off 9918 a1 oie I d1eqd fAehd g1 S| 1971
q% S BT A TTHT G Go HAIER] DI 59 e I SIS a1 UT1 1972 B &I §5 5-H0 DI o1+ TaR ST H shifd a1 €1 1996 TH
ZIAC B AB VT HIB! g6 T A A Igd & Uiex S8 - Ugel 9R 1989 H Aep-fTd gHaRict # ex-e sa s &1y fohar| ay
2oooﬁs€ﬁ€sa=ﬁaan§ﬁ?sﬂﬁaw@;ﬁﬁmﬁwmlﬁ&nﬁwﬁlWlﬁ&mﬁwﬂaﬁﬁw@u‘rﬁ@wwmﬁr
HRA H Se3c HaRM] 3R TNTH sl o Tem aral & g1 08 g YR el § 39T U 9971 81 Ugol 19 See g

Sub questions

Question Number : 76 Question Id : 2752284598 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

TS TR fraat gt § THmT gor 82
Options :

1. ¢ HHal

2. % S

3. % QY

4. % glayaf

Question Number : 77 Question Id : 2752284599 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST SO BT YANT fobd gRaRict A forar um
Options :

1. % gHARIE 31w Hadmd

2. ¢ B%-fira gfraRid

4. % ool gaRict

Question Number : 78 Question Id : 2752284600 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forg BT A 1971 TP & GO HR] Bl A F ois faar U
Options :

1. ¥ TSaReE Rd Uioiaed Toif

2. % A

3. % Up-A1d gfHaRict

4. % BRI YRS

Question Number : 79 Question Id : 2752284601 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



e ATenH T TR SATd H hifd 31 Tt o
Options :

1. % aTC soH

2. % dIORY

3. % e

4. ¢ FAIHD A

Question Number : 80 Question Id : 2752284602 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f3T 7T TR 1 U XMy H F1 R
Options :

1. ¢ 3NYFh TIR hifd

2. % AR 3R YIRSl

3. % HICR] Bl Aedin

4. % dIRIY JHAT
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Question Number : 81 Question Id : 2752284603 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Ram always respected (1)/ his boss as he was (2)/ senior than him. (3)/ No error (4)
Options :

1. # Ram always respected

2. # his boss as he was

3. % senior than him.

4. % No error

Question Number : 81 Question Id : 2752284603 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Ram always respected (1)/ his boss as he was (2)/ senior than him. (3)/ No error (4)
Options :
1. # Ram always respected

2. ® his boss as he was



3. % senior than him.

4. % No error

Question Number : 82 Question Id : 2752284604 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

There needs to be a better (1)/ approach for conserving and (2)/ improving original forest areas. (3)/ No error (4)
Options :

1. # There needs to be a better

2. % approach for conserving and

3. * improving original forest areas.

4, % No error

Question Number : 82 Question Id : 2752284604 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

There needs to be a better (1)/ approach for conserving and (2)/ improving original forest areas. (3)/ No error (4)
Options :

1. ¥ There needs to be a better

2. % approach for conserving and

3. ® improving original forest areas.

4. % No error

Question Number : 83 Question Id : 2752284605 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select No
improvement.



Sumit have to take a bus or sometimes walk to reach the coaching centre.
Options :

1. ¥ had to

2. # have had to

3. #* must to

4. ¥ No Improvement

Question Number : 83 Question Id : 2752284605 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select No
improvement.

Sumit have to take a bus or sometimes walk to reach the coaching centre.
Options :

1. ¥ had to

2. % have had to

3. % must to

4. % No Improvement

Question Number : 84 Question Id : 2752284606 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select No
improvement.

This is not fair to us who are planned to go abroad.
Options :

1. # are plans to

2. % had planning to

3. % are planning to

4. ¥ No Improvement



Question Number : 84 Question Id : 2752284606 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select No
improvement.

This is not fair to us who are planned to go abroad.
Options :

1. # are plans to

2. % had planning to

3. ¥ are planning to

4. ¥ No Improvement

Question Number : 85 Question Id : 2752284607 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

Waste management is one of the biggest for the country.
Options :

1. # compromise

2. ¥ challenges

3. % sacrifices

4. % leads

Question Number : 85 Question Id : 2752284607 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

Waste management is one of the biggest for the country.
Options :

1. # compromise



2. ¥ challenges
3. # sacrifices
4. % leads

Question Number : 86 Question Id : 2752284608 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word/words. Choose the correct alternative.

When she at her place, Mahima had left.

Options :

1. # has arrived
2. ¥ arrived

3. ® arrives

4. * had arrived

Question Number : 86 Question Id : 2752284608 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word/words. Choose the correct alternative.

When she at her place, Mahima had left.
Options :

1. # has arrived

2. ¥ arrived

3. % arrives

4. ¥ had arrived

Question Number : 87 Question Id : 2752284609 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in correct order.



On World TB Day, workshops

P: tuberculosis research enable the sharing and dissemination of
Q: information on current issues relating to the disease

R: for the media, meetings between international

S: organizations, and gatherings of scientists involved in

Options :

1. ¥ RSPQ
2. % PQSR
3. % PSQR
4. % SRQP

Question Number : 87 Question Id : 2752284609 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in correct order.

On World TB Day, workshops

P: tuberculosis research enable the sharing and dissemination of
Q: information on current issues relating to the disease

R: for the media, meetings between international

S: organizations, and gatherings of scientists involved in

Options :

1. ¥ RSPQ
2. % PQSR
3. ¥ PSQR
4. % SRQP

Question Number : 88 Question Id : 2752284610 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in the correct order.

P: the environment, O.V. Vijayan produced
Q: articles on such subjects as politics and



R: several novels and a number of short stories
S: in addition to cartoons and journalistic

Options :

1. # RPQS
2. % QPRS
3. % RQPS
4. ¥ SQPR

Question Number : 88 Question Id : 2752284610 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in the correct order.

P: the environment, O.V. Vijayan produced

Q: articles on such subjects as politics and

R: several novels and a number of short stories
S: in addition to cartoons and journalistic

Options :

1. # RPQS
2. % QPRS
3. % RQPS
4. ¥ SQPR

Question Number : 89 Question Id : 2752284611 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that means the same as the given word.

Encounter
Options :
1. # Avoiding
2. ¥ Meeting
3. % Sale

4. ¥ Announcing



Question Number : 89 Question Id : 2752284611 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that means the same as the given word.

Encounter
Options :
1. * Avoiding
2. ¥ Meeting
3. * Sale

4. * Announcing

Question Number : 90 Question Id : 2752284612 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that is opposite in meaning to the given word.

Allegiance
Options :
1. * Piety
2. # Clarity
3. %* Paucity
4. ¥ Falsity

Question Number : 90 Question Id : 2752284612 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that is opposite in meaning to the given word.

Allegiance
Options :
1. # Piety



2. # Clarity
3. # Paucity
4. ¥ Falsity

Question Number : 91 Question Id : 2752284613 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. Honourable

2. Honorable

3. Hounorable
4. Honourble

Question Number : 91 Question Id : 2752284613 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.

Note: For this question, discrepancy 1s found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. Honourable

2. Honorable

3. Hounorable
4. Honourble

Question Number : 92 Question Id : 2752284614 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is incorrectly spelt. Choose the incorrectly spelt word.
Options :

1. # Stimulus

2. ¥ Nostelgic

3. % Precision

4. % Quarrel

Question Number : 92 Question Id : 2752284614 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is incorrectly spelt. Choose the incorrectly spelt word.
Options :

1. # Stimulus

2. ¥ Nostelgic

3. % Precision

4. #® Quarrel

Question Number : 93 Question Id : 2752284615 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Look to one’s laurels

Options :

1. % According to one’s convenience
2. % Make a great deal of something
3. % Counting one’s success

4. % Work hard to remain successful

Question Number : 93 Question Id : 2752284615 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Look to one’s laurels

Options :

1. # According to one’s convenience
2. % Make a great deal of something
3. # Counting one’s success

4. ¥ Work hard to remain successful

Question Number : 94 Question Id : 2752284616 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

To throw cold water on

Options :

1. # To be perplexed

2. % A worthless, dishonest person
3. ¢ To discourage

4. ® To wake someone up

Question Number : 94 Question Id : 2752284616 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

To throw cold water on

Options :

1. # To be perplexed

2. % A worthless, dishonest person
3. ¥ To discourage

4. #% To wake someone up



Question Number : 95 Question Id : 2752284617 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.

Any underhand interference with production, work, etc
Options :

1. * Subterfuge

2. ¥ Sabotage

3. * Curate

4. % Quiver

Question Number : 95 Question Id : 2752284617 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.

Any underhand interference with production, work, etc
Options :

1. * Subterfuge

2. ¥ Sabotage

3. # Curate

4. % Quiver

Sub-Section Number : 2
Sub-Section Id : 275228296
Question Shuffling Allowed : Yes

Question Id : 2752284618 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (96 to 100)

Read the following information carefully and answer the given questions.

In a welcome step, the Food Safety and Standards Authority of India (FSSAI) has notified a draft regulation aimed at prohibiting the sale and



advertisement of food rich in fat, sugar and salt to school children inside the school premises and within 50 m around it. It comes in response to
the 2015 order from the Delhi High Court directing the central agency to frame norms to promote healthy diets in schools. Besides prohibiting
the sale of junk food, the FSSAI requires schools to simultaneously encourage and promote a safe and balanced diet. In a bid to shield the
children from consuming unhealthy food items and snacks, the FSSAI prohibits food companies that manufacture such items from advertising or
offering for free such foods in school premises and within 50 m of the campus. To thwart food companies from luring children to consume foods
rich in fat, sugar and salt, the companies are prohibited from using their logos, brand names and product names on books and other educational
materials, as well as on school property such as buildings, buses, and athletic fields. As general guidance to provide wholesome food, the agency
recommends the use of a combination of whole grains, milk, eggs, and millets; it also listed a set of general guidelines for selection of food
products that can be offered in schools.

The onus of inculcating healthy eating habits also starts at home. Besides taking steps to reduce the intake of unhealthy food, both schools and
parents should ensure children get adequate physical activity, which is increasingly being neglected for various reasons. It is a combination of
healthy food and regular physical activity that will go a long way in bringing up healthier children.

Sub questions

Question Number : 96 Question Id : 2752284619 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the primary purpose of the given passage?

Options :

1. ¥ Explaining various norms against junking fast food.

2. # Formulating daily practices need to be conducted in schools related to fast food.
3. # Describing various aspects of junk food rich in fat, sugar and salt

4. % Describing the report of FSSAI covering healthy practices for children.

Question Number : 97 Question Id : 2752284620 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT one of the norms taken by FSSAI to promote healthy diet?

Options :

1. # FSSAI has prohibited food companies to print their brand name and logos on textbooks.

2. # It has prohibited food companies to advertise their product name on school buildings, buses and athletics fields.
3. # It has formulated general guidelines for selection of food products that can be offered in schools.

4. ¥ Tt has prohibited food companies to sell junk food rich in fat, sugar and salt in school proximity after 50 m.

Question Number : 98 Question Id : 2752284621 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify the correct meaning of the word ‘onus’?
Options :

1. #® Palpable

2. ¥ Responsibility

3. % Addition

4. ® Negligence

Question Number : 99 Question Id : 2752284622 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What should parents do to ensure healthy lifestyle for their children?

Options :

1. ¥ They must take necessary steps to control their children greed for junk food.
2. # Parents should not let any food manufacturer or seller near their home.

3. % They must encourage their children to take part in physical activities.

4. ® Parents should not let children eat outside their home without measuring its health benefits.

Question Number : 100 Question Id : 2752284623 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who made FSSAI to frame norms to promote healthy diet in children?
Options :

1. ¥ Delhi High Court

2. % Supreme Court

3. # Schools
4. ® Parents

Question Id : 2752284618 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (96 to 100)

Read the following information carefully and answer the given questions.



In a welcome step, the Food Safety and Standards Authority of India (FSSAI) has notified a draft regulation aimed at prohibiting the sale and
advertisement of food rich in fat, sugar and salt to school children inside the school premises and within 50 m around it. It comes in response to
the 2015 order from the Delhi High Court directing the central agency to frame norms to promote healthy diets in schools. Besides prohibiting
the sale of junk food, the FSSAI requires schools to simultaneously encourage and promote a safe and balanced diet. In a bid to shield the
children from consuming unhealthy food items and snacks, the FSSAI prohibits food companies that manufacture such items from advertising or
offering for free such foods in school premises and within 50 m of the campus. To thwart food companies from luring children to consume foods
rich in fat, sugar and salt, the companies are prohibited from using their logos, brand names and product names on books and other educational
materials, as well as on school property such as buildings, buses, and athletic fields. As general guidance to provide wholesome food, the agency
recommends the use of a combination of whole grains, milk, eggs, and millets; it also listed a set of general guidelines for selection of food
products that can be offered in schools.

The onus of inculcating healthy eating habits also starts at home. Besides taking steps to reduce the intake of unhealthy food, both schools and
parents should ensure children get adequate physical activity, which is increasingly being neglected for various reasons. It is a combination of
healthy food and regular physical activity that will go a long way in bringing up healthier children.

Sub questions

Question Number : 96 Question Id : 2752284619 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the primary purpose of the given passage?

Options :

1. ¥ Explaining various norms against junking fast food.

2. #® Formulating daily practices need to be conducted in schools related to fast food.
3. # Describing various aspects of junk food rich in fat, sugar and salt

4. ® Describing the report of FSSAI covering healthy practices for children.

Question Number : 97 Question Id : 2752284620 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT one of the norms taken by FSSAI to promote healthy diet?

Options :

1. #® FSSAI has prohibited food companies to print their brand name and logos on textbooks.

2. % It has prohibited food companies to advertise their product name on school buildings, buses and athletics fields.
3. # It has formulated general guidelines for selection of food products that can be offered in schools.

4. ¥ It has prohibited food companies to sell junk food rich in fat, sugar and salt in school proximity after 50 m.



Question Number : 98 Question Id : 2752284621 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify the correct meaning of the word ‘onus’?
Options :

1. #® Palpable

2. ¥ Responsibility

3. % Addition

4. ® Negligence

Question Number : 99 Question Id : 2752284622 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What should parents do to ensure healthy lifestyle for their children?

Options :

1. # They must take necessary steps to control their children greed for junk food.
2. % Parents should not let any food manufacturer or seller near their home.

3. ¥ They must encourage their children to take part in physical activities.

4. ® Parents should not let children eat outside their home without measuring its health benefits.

Question Number : 100 Question Id : 2752284623 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who made FSSAI to frame norms to promote healthy diet in children?
Options :

1. ¥ Delhi High Court

2. % Supreme Court

3. % Schools

4. ® Parents



Disciplinel

Group Number : 6

Group Id : 275228155

Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
Disciplinel

Section Id : 275228248

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 275228297

Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 2752284624 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

O o du al.l
If u=sin"— Y - then what is the value of K—+}’

X +y° oy

Options :

1. #* —7cos(u)



2. % Ttan(u)
3. % 7sin(u)
4. ¥ —Ttan(u)

Question Number : 101 Question Id : 2752284624 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

afe u=si11"1xs+—2}; %’, ar X@+Y@ &l HATA T %‘7
X Ey ox oy

Options :

1. #¥ —7cos(u)

2. # Ttan(u)

3. # 7sin(u)

4. ¥ —Ttan(u)

Question Number : 102 Question Id : 2752284625 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The function(s) that is/are in play when writing a proposal is/are:

I. Persuading actions
II. Highlighting benefits

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 102 Question Id : 2752284625 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR e o o B 81 3R B /e



1. ITSH A & ot dRars
11. ST arsfeT ety

Options :

1. % PHadl

2. % Had Il

3. ¢ 1 AU Gl
4. % qIGIIATRIII

Question Number : 103 Question Id : 2752284626 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a shortcut key to undo last action in MS Word?
Options :

1. ¥ Cul+Z

2. % Ctrl+]

3. % Ctrl+l

4. % Ctrl+K

Question Number : 103 Question Id : 2752284626 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

MS Word T 3ifcr foan 1 gdad o+ fos fore fRafoRad & 9 o1 1 wicehe ot 82
Options :

1. ¥ Cul+Z

2. % Ctrl+])

3. % Ctrl+l

4. % Ctrl+K

Question Number : 104 Question Id : 2752284627 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following is an input device?
Options :

1. % Plotter

2. # Printer

3. ¥ Joystick

4. % Speaker

Question Number : 104 Question Id : 2752284627 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFrafefed # 9 i 91 U $1YC fSarsd g2
Options :

1. % TR

2. % fiR

3. ¥ SIREH

4. % T

Question Number : 105 Question Id : 2752284628 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is a type of subprogram?

I. Functions
II. Subroutines

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 105 Question Id : 2752284628 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fofefad & ¥ o9 91 9aURITH &1 U6 UHR 82

. R
I1. ge=fed

Options :

1. % $Had 1

2. % HAd Il

3. ¢ 1 AU Gl
4. % 1B 1

Question Number : 106 Question Id : 2752284629 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is a primary task of memory management system?

L. It keeps track of which parts of the memory are currently being used
II. When space is available, it allocates memory to the programs that are next to be loaded

Options :

1. * Only I

2. % Only II

3. % Both I and II
4. # Neither I nor II

Question Number : 106 Question Id : 2752284629 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFoffed & ¥ o9 91 90R) yse= Yunel! ol Wdfie &1 82

1. T8 ¢ Hdl § [ adam § 3O & {1 fowdll &1 Suaiv fpar s er
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Options :

1. ® Had 1



2. % Had Il
3.« 1 QYT I Sl
4. % BB I

Question Number : 107 Question Id : 2752284630 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A 2D array in which there are different number of elements in each row is known as

Note: For this question, discrepancy is found in question/answer. So,this
question 1s 1gnored for all candidates.

Options :
1. regular
2. irregular
3. sparse
4. dense

Question Number : 107 Question Id : 2752284630 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e 2D W e vl Ul H o B i Rm e e 3. reoderter E)
Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

2. 3[R
3. WOy

4.39

Question Number : 108 Question Id : 2752284631 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
When does the .exe file is created in C language?

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. After compilation

2. After loading all files

3. After linking

4. After writing

Question Number : 108 Question Id : 2752284631 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

C HISTH exe WT3d B (A Bt 82
Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

|. HHTEAYE & §1G

2. 9 PR I AlfeT & 91g

3. fifdT & a1

4. fErFag

Question Number : 109 Question Id : 2752284632 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The operator in C++, which is used to access a value referred by a pointer is known as
Options :

1. # indirect operator



2. # direct operator
3. % indirection operator

4. # insertion operator

Question Number : 109 Question Id : 2752284632 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

C++ BT 3fTReR, forgerT IuaT fdl ufder gRI iy AM b ugem & e fran oare, & SU A SHTSIar g
Options :

1. % TS SR

2. % STRF IR

3. ¥ STSTARERM IR

4. % TR IR

Question Number : 110 Question Id : 2752284633 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sort the following elements using Bubble sort in ascending order. What is the intermediate sequence of 37, 54, 21, 85, 68, 12, 9, 57 after second
pass?

Options :

1. ¥ 21,37,12,9, 54, 57, 68, 85

2. % 37,21,54,68,12,9, 57, 85

3.9 21,37,54,12,9, 57, 68, 85

4. % 21,12,9,37, 54,57, 68, 85

Question Number : 110 Question Id : 2752284633 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I TIC BT SUANT B FYURId Il DI RIGT HH T HHES B | e U & §1G 37, 54, 21, 85, 68, 12, 9, 57 BT sexfirete Riagg~a
152

Options :

1. % 21,37,12,9, 54,57, 68, 85




2. % 37,21,54,68,12,9, 57, 85
3.¥21,37,54,12,9,57, 68, 85
4. % 21,12,9,37, 54,57, 68, 85

Question Number : 111 Question Id : 2752284634 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the output of the code written in C?
void main()

{

intk, v;
k=(v=20,v+2);
printf("%d" k);
b

Options :

1. %2

2. %20
3.%°22

4. % Error

Question Number : 111 Question Id : 2752284634 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
C T o %1S &1 3TSHeye FT 32
void main()

{

intk, v;
k=(v=20,v+2);
printf("%d" k);
}

Options :

1. %2

2. %20

3.¥ 22



4. % Ffe

Question Number : 112 Question Id : 2752284635 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The following keys 22, 28, 23, 12 and 13 are inserted into initially empty hash table of length 9 using open addressing with hash function h(k) =
k mode 9 and linear probing. At what index key 13 is inserted?

Options :
1. % 4
2.%5
3.6
4. % 7

Question Number : 112 Question Id : 2752284635 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoRaa Fiorr 22, 28, 23, 12 3R 13 BT 30 TSR & 1Y 8 HaRM h(k) = k AIS 9 3R AR WIS BT ITANT B 9 QTS Bl
TR JTeht 5% cad § STell 71 3 | fohd S0 IR BT 13 I ST 7T 62

Options :

1. % 4

2. %5

3.6

4. % 7

Question Number : 113 Question Id : 2752284636 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the file extension for Batch files?
Options :

1. ¥ BAT

2. % BCH

3. % .CTH



4. *= BATCH

Question Number : 113 Question Id : 2752284636 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¥ BAT

2. % BCH

3. % CTH

4. % BATCH

Question Number : 114 Question Id : 2752284637 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is a type of Real time operating system?

I. Hard real time system
II. Soft real time system

Options :

1. ® Only I

2. % Only I

3. % Both I and II
4. % Neither I nor II

Question Number : 114 Question Id : 2752284637 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifad & @ oF 1 dud ergy TR Red &1 te TeR 82

1. g1 ud ered Rren
1. 919 d e1gA Rier

Options :




1. % FHadl
2. % HAd I
3. ¢ [ QYT I gl
4. % 1B

Question Number : 115 Question Id : 2752284638 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If b is the base of the positional number system. What is the range of symbols it consists of?

Options :
I.#*0tob
2.% 1tob
3.90to(b—1)
4. % 1to(b—-1)

Question Number : 115 Question Id : 2752284638 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe b U Ta vt &1 99 8 | 390 Risay & 3o 182

Options :
1. % 0db
2. % 19b
3.¢0U(b-1)
4. % 19 0b-1)

Question Number : 116 Question Id : 2752284639 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many bits are required to represent any decimal number in the range from 0 to 2”1 in base 2?
Options :

1.¥n



2. % n—1
3, % on-l
4. % n+1

Question Number : 116 Question Id : 2752284639 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I 2 T 0 201 & o foeit ot SRmIaa T &1 G o 1o foha- faey &1 siaxadhdt gidl 82
Options :

1.¥n

2. % n-1

3, % pn-l

4. % n+1

Question Number : 117 Question Id : 2752284640 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Assigned ordering among the characters used by the computer is known as
Options :

1. % character sequence

2. # linear sequence

3. % collating sequence

4. # data sequence

Question Number : 117 Question Id : 2752284640 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SR GRT IYTNT fHT O aTal dhiaex & d1d SATs S TSR BI CIHRSIGI]
Options :

1. % ey Ry

2. % faf R Ry




3. ¢ PIafe g
4. % Sa1 ey

Question Number : 118 Question Id : 2752284641 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which gate is represented by the following truth table?

7Y [n%m C Output
A B 1
0 (0 |1 1
0 | 1 |® 1
+ U | 1
1 Lo | ol 1
1 )01 1
1 1 | D 1
1 I | 0

Options :

1. * NOR

2. ¥ NAND

3. % XOR

4. = XNOR

Question Number : 118 Question Id : 2752284641 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofiied o dTferdT gR1 o T 1 eIt STl 62



FE | smege

A B | E
0| 0|0 1
O I I | 1
0 i (@ 1
0 1 1 1
1 0| 0 1
1 0|1 1
1 1 | B 1
1 1 1 0

Options :

1. ¥ NOR

2. ¥ NAND

3. ¥ XOR

4. ® XNOR

Question Number : 119 Question Id : 2752284642 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Minimize the three variable logic function using K-Map.
f(A, B, C) =PM(0, 3,4, 7)

AB

B

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :



) (B+ C)(B +E)
(B+C)(B+C)
(B+c)(B+C)

(E+ C)(B+C)

Question Number : 119 Question Id : 2752284642 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

K-Map T STINT ®Hh di- dRUSd Al HaRH & g &1 |
f(A, B, C) = PM(0, 3, 4, 7)

AB

B

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1.$+CKB+@



) (B +C)(B+C)

(B+c)(B+C)
3.

N (E + E){B +C)

Question Number : 120 Question Id : 2752284643 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Astable multivibrator has quasi-stable states.
Options :

1. %0

2. % 1

3.2

4. % 3

Question Number : 120 Question Id : 2752284643 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T Ed Hecldlgsie? | BN XTI AR Bl 5|
Options :

1.*0

2. % 1]

3.2

4. %3




Discipline2
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Question Number : 121 Question Id : 2752284644 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is correct regarding figure of merit of an IC?
Options :

1. # Propagation delay time — power

2. % Propagation delay time + power



3. % Propagation delay time x power

4. ¥ Propagation delay time + power

Question Number : 121 Question Id : 2752284644 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IC B AT & R & ey § FafoRad & 9§ oF 91 98 82
Options :

1. % UM Sid egH — UlaR

2. % YOI SId TgH + UlaR

3. ¢ TR Sidd eT8H x UlaR

4. % TIUAIRH Sidd C1eH + IR

Question Number : 122 Question Id : 2752284645 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is correct regarding T type flip flop?

I. If T = 1, changes state for lining clock pulse
II. If T = 0, does not changes state

Options :

1. * Only I

2. % Only II

3. % Both I and II
4. # Neither I nor II

Question Number : 122 Question Id : 2752284645 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 139 ey g & de A Fufeiad # 9 o a1 98l 82

1. afe T = 1, AR i U &l e geadi gl
1. If¢ T =0, W< T8l Seadi g




Options :

1. % Had 1
2. % Had Il
3. [ QYT ISl
4. % GBI

Question Number : 123 Question Id : 2752284646 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following represents XNOR gate?
Options :

| x Y=AGB

, v Y=AOB

3 % Y=A+B

, x Y=AB

Question Number : 123 Question Id : 2752284646 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferfad & ¥ &1 91 XNOR T &) GITdl BT 82

Options :
|« Y=A®B

, v Y=AOB



Y=A+B

Question Number : 124 Question Id : 2752284647 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is oldest database model?
Options :

1. # Deductive

2. # Relational

3. % Object-Oriented

4. ¥ Hierarchical

Question Number : 124 Question Id : 2752284647 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fofafed @ 3 oF 91 9ad [T Scey H1sd 67
Options :

1. ® f&efdea

2. % AR

3. % Siguide SRUCS

4. v RXRFHA

Question Number : 125 Question Id : 2752284648 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the full form of DDLC in database?
Options :



1. # Distributed Database Log Clearing
2. # Distributed Database Life Cycle

3. ¥ Database Development Life Cycle
4. # Deductive Database Life Cycle

Question Number : 125 Question Id : 2752284648 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Scre # St 31.uA . 3T Srifed T U w1 57
Options :

1. % fSIgRM STere™ an foaaieT

2. % {$Eigfes Srerey asw Arsfdbd

3. ¢ STETa SaaUHe ARt Isfed

4. % fgehicd SeEg AW ATSihd

Question Number : 126 Question Id : 2752284649 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
All candidate keys other than primary keys are known as

Note: For this question, discrepancy 1s found in question/answer. So,this

question is 1gnored for all candidates.
Options :

1. Foreign key

2. Secondary key

3. Alternate key

4. Remaining key

Question Number : 126 Question Id : 2752284649 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



TISHL) 1 & SfelTdl 3 YHt HISST Bl Bl EHSIGI
Note: For this question, discrepancy is found in question/answer. So,this
question 1s 1gnored for all candidates.

Options :

1. BRA Bt
2. et Bl
3. 3feTHC B
4. RT3t

Question Number : 127 Question Id : 2752284650 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The left-hand side and the right-hand sides of a functional dependency are sometimes called and respectively.
Options :

1. # domain; attributes
2. ¥ determinant; dependent
3. % range; table

4. # tuple; relation

Question Number : 127 Question Id : 2752284650 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T HaRd feUsdl & 814 IR 3R G RB B! Hfl-Fef s 3R HET A |
Options :

1. % S, Tegey

2. ¢ SRS, f§Use

3. % W °gd

4. % Od,; Ra=H

Question Number : 128 Question Id : 2752284651 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
are some problems that may arise while creating the Entity relationship model.
Options :
1. ¥ Connection traps
2. # Transition traps
3. % Groups traps
4. ¥ Data traps

Question Number : 128 Question Id : 2752284651 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 AW g o tfefe RAwmRig Aisd s T 307 8 9 B
Options :

1. ¥ HaRM ¢

2. % CIRRA ¢W

3. % g ¢

4. % eI

Question Number : 129 Question Id : 2752284652 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is a symbol of multivalued attribute in Entity relationship diagram?
Options :

1.@/@

2H<<>

3.*;gIEI



e @

Question Number : 129 Question Id : 2752284652 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafad @ 9 o a1 ufedt RaxART e # Aediaegs Uieee &1 Udi® 82

Options :

l.v’@

2w

L ©
. =
. &

#

3.
4, %

Question Number : 130 Question Id : 2752284653 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is the point of synchronisation between the database and the transaction log file in database management system.
Options :
1. ¥ Checkpoint
2. # Shadow point
3. ¥ Mapping point
4. # Key point



Question Number : 130 Question Id : 2752284653 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SISy YEY YU H Seray 3R RiaRM A1 BIgd & did RispgeRH &1 fig g |
Options :

1. ¥ dPhyisc

2. % QI UlEe

3. % Aftruige

4. % DIUSC

Question Number : 131 Question Id : 2752284654 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many address lines and input-output data lines are needed in 2k x 16 memory unit?
Options :

1. #® 10 address line, 16 data line

2. % 10 address line, 4 data line

3. #® 11 address line, 4 data line

4. % 11 address line, 16 data line

Question Number : 131 Question Id : 2752284654 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2k x 16 AURY gfe # fhd- T34 = 3R 3Ye-3T3eye Sl Als- &1 ATaRIHhdl gid! 82
Options :

1. % 10 TS @18, 16 ST a3

2. % 10 TgY WS, 4 ST ATEA

3. % 11 USY AT, 4 ST A3

4.+ 11 T3Y A1, 16 ST A8

Question Number : 132 Question Id : 2752284655 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

How many full adders are required for n-bit binary adder?
Options :

1. % 2xn

3.% n

4, % p2

Question Number : 132 Question Id : 2752284655 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

n-foe T TR & o T d Texy &t Saadhdl 82
Options :

1. % 2xn

3.% n

4, % p2

Question Number : 133 Question Id : 2752284656 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

By including which logical gate binary adder circuit is used for both binary addition and subtraction?
Options :

1. # Ex - AND gate

2. % AND gate

3. % Ex - OR gate

4. % OR gate



Question Number : 133 Question Id : 2752284656 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g e d e B WA B TT5R] TSR fche P IR1 Sl 3R Uerd gl & fore SuaT fahar Sirar 82
Options :

1. % Ex- ANDTIC

2. % ANDTIC

3.¥ Ex-ORTC

4. % ORTIC

Question Number : 134 Question Id : 2752284657 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The 8-bit register A and B initially have the following values.
A=01110110
B =10000101

What is the 8-bit value in each register after execution of the following micro-operation?
A—A+B
B—B+1

Options :

1. % A=11111110, B =10000101
2. % A=11111011,B=10001110
3. A=11111011, B= 10000110
4. % A=11111101, B =10000101

Question Number : 134 Question Id : 2752284657 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

8-fore IR A 9T B & = & Fafiea am g1
A=01110110

B =10000101



feT TN AEHI- TR & AweT & §1¢ Td® IWorex # 8-fae H A w82
A—A+B
B—B+1

Options :

1. % A=11111110,B=10000101
2. % A=11111011,B=10001110
3. A=11111011, B=10000110
4. % A=11111101, B=10000101

Question Number : 135 Question Id : 2752284658 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Pseudo instruction is given to

Options :

1. # compiler

2. # linker

3. % assembler

4. # loader

Question Number : 135 Question Id : 2752284658 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YEIse®E Bl wagl
Options :

1. % PHURE

2. % fofh

3. ¢ TRIER

4. % IS

Question Number : 136 Question Id : 2752284659 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which property of CSS specifies the degree to which text should be emboldened?
Options :

1. #* Font — style

2. % Font — family

3. % Font — weight

4. % Font — size

Question Number : 136 Question Id : 2752284659 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

CSS B D I Tt 39 S & iy Tl 8 ol I Coe 1 THaIce S [l STl dTfgd?
Options :

1. % Bi< - ¥sd

2. % Wi — Wil

3. ¥ Bi< - dc

4. % < — Il

Question Number : 137 Question Id : 2752284660 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which property of CSS enables to set multiple list properties at once?
Options :

1. # List — style — type

2. # List — style — image

3. % List — style — position

4. ¥ List — style

Question Number : 137 Question Id : 2752284660 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

CSS B B Il TS T 1Y F3 ot UIUfEa) o e H- & &l 1 52

Options :



1. % foRe — w<gd - e’y
2. % fore - wIsd - 3V

3. % foRe - wrsd - UifelRE
4. ¢ e - wWigd

Question Number : 138 Question Id : 2752284661 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is correct?

I. Decrease in asset is credited
II. Increase in liabilities is credited

Options :

1. % Only I

2. % Only II

3. % Both I and I
4. ® Neither I nor II

Question Number : 138 Question Id : 2752284661 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefad 7 3 1 a1 adt 82

1. uREufa & o & S U H gof fhar S |
I1. STraraft § gfg & ST uel H &l foban ST §

Options :

1. % $Had 1

2. % Had Il

3. ¢ 1 AU Gl
4. % I I

Question Number : 139 Question Id : 2752284662 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Which of the following is a feature of depreciation?

I. It is decline in the book value of fixed assets
II. It is a continuing process

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 139 Question Id : 2752284662 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A # 9 PI- Tt 51 B T =il g2

1. I8 R uRT il & 981 - g $T A&l §
11. T8 U e =em arelt ufspan 3

Options :

1. % Hadl
2. % HAd Il
3. [ QYT ISl
4. % qEIIATE I

Question Number : 140 Question Id : 2752284663 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Given the following table of value of f(x) = logx, what is the value of f'(3)?

X |2 2 3 4
fix)| 0 |0.301|0.477| 0.602




Options :

1.9 0.125
2. % 0.225
3. % 0.208
4, % 0.278

Question Number : 140 Question Id : 2752284663 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f(x) = logx & HAT Fr AFATATET qTforenT & T2 g, £'(3) FT FT F41 872

x| d 2 3 1
fix)| 0 |0.301|0.477| 0.602

Options :
1.9 0.125
2. % 0.225
3. % 0.208
4, % 0.278
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Question Number : 141 Question Id : 2752284664 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the full form of ROCOF in Software Reliability?
Options :

1. # Ratio of occurrence of fault

2. # Rate of occurrence of fault

3. % Rate of occurrence of failure

4. % Ratio of occurrence of failure

Question Number : 141 Question Id : 2752284664 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HiteaaR Rarsfaferc! # ofR. 3ft. . 3. . $1 Sifend U 1 52
Options :

1. % RN 31 (B 3Hh Blee

2. % T 3 H[HI 3 Biec

3. ¢ T 3 (B [ WieRR




4. % AT TP HTehI 31T B

Question Number : 142 Question Id : 2752284665 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Match the symbol used in DFD with their function.

1 | i | Output

x| = ii | Process

3 | [ | iii | Data store

4 | G iv | External entity
Options :

1. % 1-iv, 2-iii, 3-i, 4-ii
2. % 1-ii, 2-iii, 3-i, 4-ii
3. % 1-iv, 2-i, 3-iii, 4-ii

4. % 1, 2-iii, 3-iv, 4-ii

Question Number : 142 Question Id : 2752284665 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1.0 S T Ugad Ui Bl 3db B & A1 FAId HIfog |

1 || i |3mEeye

2 | = | i |

3 |[DY] iii |2eT WX

4 | O | iv | vrgetsTar vfefe

Options :
1. % 1-iv, 2-iii, 3-i, 4-ii
2. % 1-ii, 2-iii, 3-i, 4-ii



3. ® 1-iv, 2-i, 3-iii, 4-ii
4. ® 1, 2-iii, 3-iv, 4-ii

Question Number : 143 Question Id : 2752284666 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to structured partitioning in software engineering a program
Options :

1. #® should be partitioned both horizontally and diagonally

2. # should be partitioned both vertically and diagonally

3. ¥ should be partitioned both horizontally and vertically

4. ® should be partitioned diagonally

Question Number : 143 Question Id : 2752284666 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AR SOl H Chds TNeH-Td TR TH U |
Options :

1. # giRwilcal 3R STaUe gl dig ¥ UrféeH faar S anfeu

2. % gicHal 3R STUH Gl dRg A TR fovar ST anfeu

3. ¢ BIRGiical 3R el G axe o TR o ST =feT

4. % SOU UM {1 ST A1fgT

Question Number : 144 Question Id : 2752284667 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is another name for level 0-DFD?
Options :

1. # E-R Diagram

2. ¥ Context diagram

3. # Flow diagram



4. % Structure chart

Question Number : 144 Question Id : 2752284667 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AT 0-S1.TP BT, BT GERT A9 T 32
Options :

1. # E-R SISUMH

2. ¥ HeRC SRUM

3. % Ul SIUH

4, % TR A

Question Number : 145 Question Id : 2752284668 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is COUPLING in software design?

Options :

1. ¥ Coupling is measure of degree of functional interdependence between the two modules

2. # Coupling is measure of degree of functional non-dependence between the two modules

3. # Coupling is measure of degree of functional connected dependence between the two modules
4. ® Coupling is the measure of the functional strength of the module of the software

Question Number : 145 Question Id : 2752284668 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e aaR f&ee # COUPLING &1 g2

Options :

1. ¢ G AISId & o1 HATED Sexsued &I [SUT & AU HUHT §

2. % QI ASYd & a1 HATED AH-[SUed HI (S &1 AUH HUHT §

3. % QI ATSYd & §id HIATHD Hdcs [Suad ! &3 BT AT HUleiT §
4. % ICIIR & IS P HHATHD YSadl Bl AU HUTCHT §




Question Number : 146 Question Id : 2752284669 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement(s) is/are correct regarding code walk-through in software engineering?

L. It is an informal technique for analysis of the code.
II. It is undertaken just before the coding of the module.

Options :

1. ¥ Only I

2. % Only I

3. % BothIandII
4. % Neither I nor II

Question Number : 146 Question Id : 2752284669 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR SN 8 BIS alep-3 o gl # FafRad o 9 o1F WA & 98! 8/6?
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Options :

1. ¥ $ad [

2. % had I

3. % 1T gl

4. % AIGIATEII

Question Number : 147 Question Id : 2752284670 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In boundary value analysis testing method, if we want to design a test case that computes the square root of integer values in the range from 1 to
4000, then the test case must include what values?

Options :



1. # [0, 1, 3999, 4000
2. % [1, 2, 3999, 4000
3. %[0, 1, 4000, 4001
4. % [1, 2, 4000, 4001

e R S |

Question Number : 147 Question Id : 2752284670 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS ST dcg TATIR SR BUS B, TG §H U X B [SolTg 1 a8 & oif 1 H 4000 T o GUITeh T Pl A HEE Pl 5, dl
O B H S I I M g4 A1eq?

Options :

1. % [0, 1, 3999, 4000
2. % [1,2,3999, 4000
3. 9]0, 1, 4000, 4001
4. % 1,2, 4000, 4001

—_ e e

Question Number : 148 Question Id : 2752284671 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is function of javap command?

Options :

1. # A command for running the java compiler

2. % A command that disassembles java class files

3. # A command for running a non-optimized version of java compiler

4. ® A command that is used to generate API-style HTML documentation

Question Number : 148 Question Id : 2752284671 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
javap HHIS BT B AT %‘?

Options :

1. % Java HUZER el & ol Th HHIS




2. ¢ Java I WISl B AT B & 00 Th HHAIS
3. % Java HUGER & A MPATZTS To &I I & [T T HHIS
4. % Th HUS TR ITANT TUT 3TS.-Xchl T, TH U, SIS S B & U fpar Sar g

Question Number : 149 Question Id : 2752284672 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement is/are correct regarding JAVA programming?

I. A class marked as final cannot be inherited
II. A method marked final cannot be overridden

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ® Neither I nor I

Question Number : 149 Question Id : 2752284672 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

JAVA TITiET & dey & Fafafed 5 4 oH 91/ ouT 9d 8782
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Options :

1. % FHad 1
2. % Had Il
3. QYT I gl
4. % qGIIATRIII

Question Number : 150 Question Id : 2752284673 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

What is the output of the following JAVA code?
String s = “exam:”+ 9+ 9 +9;
System.out.println(s);

Options :

1. # exam 27
2. # exam:27
3. % exam:9
4. ¥ exam:999

Question Number : 150 Question Id : 2752284673 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FAfIRET JAVA P &7 3T3eYC FT 82

String s = “exam:” + 9 + 9 +9;
System.out.println(s);

Options :

1. # exam 27
2. % exam:27
3. % exam:9
4. ¥ exam:999

Question Number : 151 Question Id : 2752284674 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Assume that the following jobs are to be executed on a single processor system. All jobs have arrived at 0 msec.

Job Id | CPU
a 4

o (o
]|

-2




If scheduling is round robin with time slice 1 msec, then what is the completion time for job ‘a’?
Options :

1. * 4

2.910

3.% 7

4. % 11

Question Number : 151 Question Id : 2752284674 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A o fos Fafafad o1 ted TR Riked )R e d frt oM &1 94 S 0 msee TR g9 B

e HWE.E. | '@y
a 4
b |
C #*
d 2

TfS VST TH XY 1 msec b 1Y IS TS &, Al BT 2’ b 7T Q1 81 b1 9 fber 1 &2
Options :

1. % 4

2.¥ 10

3.% 7

4. % 11

Question Number : 152 Question Id : 2752284675 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The programming of first generation computers was done in language.



I. Machine
I1. High level

Options :

1. % Only I

2. % Only II

3. % Both I andII
4. ¥ Neither I nor II

Question Number : 152 Question Id : 2752284675 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YA Wil & el &I U TS H BT T 2t

1. AR
I1. BT Add

Options :

1.¥ Hadl

2. % HAd Il

3. % [ UGl
4. % qEIIATE I

Question Number : 153 Question Id : 2752284676 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which protocol is used for basic transmission of multimedia content?
Options :

1. ¥ Real-time transport protocol

2. # Real-system transport protocol

3. # Real-system transfer protocol

4. ¥ Real-software transport protocol

Question Number : 153 Question Id : 2752284676 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Aeefifear arnht & g gaRu & for fa Mieisla &1 SuanT fasa ST &2
Options :
1. ¢ Rgd-egH giuie Uieidld

N C v

2. % ROy i widiald

3. % Rud-Rey gam Uiciad
AC NN v

4. % RYA-GIHeatR CiAIE Uleidbid

Question Number : 154 Question Id : 2752284677 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
stores entries about files and their characteristics.
Options :
1. # File application table
2. % File access table
3. # Format allocation table
4. ¥ File allocation table

Question Number : 154 Question Id : 2752284677 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

 BrEdl 8RR 3! faRivdrel & R H Ui TUgid aRdl |
Options :

1. ® BIsd VWil eod

2. % BIgd UTRIY <o

3. % IHC TAIhTH cod

4. ¥ BISd TR cad

Question Number : 155 Question Id : 2752284678 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
A disk consists of , ,

Options :

1. # track, segment and circle
2. % track, circle and cone

3. % drum, track and segment

4. ¥ cylinder, tracks and sectors

Question Number : 155 Question Id : 2752284678 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& o o : , g gl

Options :

1. % ¢op, YT 3R widbd
2. % ¢, Fichd AR P
3. % W, <& 3R WHC
4. ¢ TdeR, TP 3R ae?

Question Number : 156 Question Id : 2752284679 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement(s) is/are NOT correct?

L. Parallel processing is also known as loosely coupled architecture.
II. Distributed system is also known as tightly coupled architecture.

Options :

l. % Only I

2. % Only II

3. % Both I and I
4. # Neither I nor II

Question Number : 156 Question Id : 2752284679 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % PHadl

2. % Had I

3. ¢ 1 qUTIL T
4. % 1B

Question Number : 157 Question Id : 2752284680 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As the income of the consumer increases, the
Options :

1. # demand for a normal good becomes zero
2. ¥ demand for an inferior good falls

3. ¥ demand for an inferior good rises

4. % demand for a normal good falls

Question Number : 157 Question Id : 2752284680 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
OO SUHIET F T g ], |
Options :

1. % T AT 9 BT {7 LI & ol &
2. ¢ TS G a¥q &1 HiTT & 81 St &
3. % U MURRIT a%] & AN 96 ol §

4. % TP G G &1 AN HH 81 oIl &




Question Number : 158 Question Id : 2752284681 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Selling of a bond by RBI to private individuals or institutions leads to

I. Reduction in quantity of reserves
II. Reduction in money supply

Options :

1. * Only I

2. % Only I

3. % Both I and II
4. % Neither I nor II

Question Number : 158 Question Id : 2752284681 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SR . 3MMs. gRI Aol safdaa a1 TRl &) U dig & fawt @ g gl
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Options :

1. % dhad [
2. % HAd Il
3. [ QYT ISl
4. % qEIIATE I

Question Number : 159 Question Id : 2752284682 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In a production process if all inputs get tripled, then which of the following statements will follow?

L. If output is tripled, then decreasing returns to scale holds.
II. If output gets doubled, then constant returns to scale holds.
II1. If output is more than tripled, then increasing returns to scale holds.



Options :

1. * Only II
2.+ Only III
3. % Tand II
4. % Jand III

Question Number : 159 Question Id : 2752284682 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T Id1e Uferar # afe quft gqe fiF 11 81 el 7, df Fafafad B § o 1 Sy SRR S
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I1. fE 3TITYCT GRIAT &1 OITdT 8, dl diRee e ¢ Thd YR HRdl |
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Options :

1. % Had 11

2. ¢ Had III

3. % 13U

4. % 1A

Question Number : 160 Question Id : 2752284683 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Match the following TCP/IP protocol with their use.

a |FTP i | Remote login

b | TFTP i1 | Send datagram

¢ | Telnet iii | File transfer

d | UDP iv | Trivial file transfer
Options :

1. * a-ii, b-iv, c-i, d-iii

2. ® a-i, b-ii, c-iii, d-iv



3. # a-iii, b-1v, c-ii, d-i
4. % a-iii, b-iv, c-1, d-ii

Question Number : 160 Question Id : 2752284683 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fgferRad TCP/1P UICTehIel Bl ITch SUANT A FHTeId B |

a |FTP i |fAEe aF=
b | TFTP ii |de= 2TETA

c | Telnet iii | PTEer TTABT
d | UDP iv | fefaaer wrea arawT

Options :

1. ® a-ii, b-1v, c-1, d-iii
2. % a-i, b-1i, c-i1, d-1v
3. ® a-iii, b-1v, c-ii, d-1i
4. % a-iii, b-iv, c-i, d-ii
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Question Number : 161 Question Id : 2752284684 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not an example of Guided transmission media?
Options :

1. # Fiber optic

2. ¥ Infrared wave

3. % Twisted pair

4. % Coaxial cable

Question Number : 161 Question Id : 2752284684 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % g 30D

2. ¢ TRE 44

3. % fgfees R
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Question Number : 162 Question Id : 2752284685 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DHCP (Dynamic Host Configuration Protocol) is a

Options :

1. #® asking question and getting the reply

2. ® protocol in which the sends for positive acknowledgement before advancing to the next data item
3. # protocol allows a newly booted workstation to broadcast its Ethernet address

4. ¥ protocol allows both manual IP address assign infant and automatic assignment

Question Number : 162 Question Id : 2752284685 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 163 Question Id : 2752284686 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is a private network that uses a public network to connect remote sites or users together.
Options :
1. # Visual public network
2. ¥ Virtual private network
3. # Virtual public network

4. % Visual private network



Question Number : 163 Question Id : 2752284686 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % fagsra ufeds Acds
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4. % fIg3/d UIgde Hedd

Question Number : 164 Question Id : 2752284687 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement(s) is/are correct regarding Peer-to-Peer Network Architecture?

I. Any peer can access any other peer on the network for sharing and retrieving data
II. Needs a dedicated server to provide various services to client

Options :

1. % Only I

2. % Only II

3. % Both I andII
4. ¥ Neither I nor II

Question Number : 164 Question Id : 2752284687 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ Had |




2. % Had Il
3. % 1 qYT I aHl
4. % qIEITAIB I

Question Number : 165 Question Id : 2752284688 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The process of compiling Intermediate Language programs to the actual machine language on the target platform prior to execution is known as

L. Just-In-Time compiling
II. First-In-Time compiling
Options :

1. ¥ Only I

2. % Only II

3. % Both I and II

4. % Neither I nor II

Question Number : 165 Question Id : 2752284688 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.¥ Hadl
2. % HAd Il
3. % [ QYT ISl
4. % qEIIATE I




Question Number : 166 Question Id : 2752284689 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What does '/etc' directory contain in Linux operating system?

Options :

1. # Home directories of the common user

2. ¥ System configuration file

3. # Miscellaneous data

4. % Common program shared by the system and the system administrator

Question Number : 166 Question Id : 2752284689 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 3T STURTHA P g1 ARG ISl
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3. % oAy sai

4. % Rew gR1 e foar a1 9= Uy aut ey vsfifReer

Question Number : 167 Question Id : 2752284690 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following are the types of Electronic Payment Systems (EPS)?

I. Smart Cards
II. E-Wallet
II1. Electronic Funds Transfer

Options :

1. ® T and III

2. % Il and III
3. % Tand II

4. % 1 11 and 111



Question Number : 167 Question Id : 2752284690 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % TdYTIII

2. % I dUTIII

3% ITdUTI

4. 1 11 dYT1II

Question Number : 168 Question Id : 2752284691 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Match List — I of firewalls with List — II of their usage. Select the correct answer from the given options.

List-I List-IT

a Stateful inspection i | Telget
firewall
Packet filter .. | Operating

b . 1 : -
firewalls systems

c me_}r IR iii | Mail servers
firewalls

d Application level s Inbound
firewalls network traffic

Options :

1. ¢ a-iv, b-ii, c-iii, d-i

2. % a-ii, b-i, c-iv, d-iii



3. # a-i, b-iv, c-ii, d-iii

4. * a-iii, b-i, c-1v, d-ii

Question Number : 168 Question Id : 2752284691 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ a-iv, b-ii, c-iii, d-i
2. * a-ii, b-1, c-1v, d-iil
3. # a-i, b-1v, c-ii, d-iii

4. * a-iii, b-i, c-1v, d-ii

Question Number : 169 Question Id : 2752284692 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which traversal of binary search tree is in ascending order?



I. Preorder traversal
II. Postorder traversal
II1. Inorder traversal

Options :

1. % Only II
2. % Tand III
3. ¢ Only III
4. % II and III

Question Number : 169 Question Id : 2752284692 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % $Had Il

2. % QU

3. ¢ $Had 11l

4, % T dYTIIT

Question Number : 170 Question Id : 2752284693 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which rotations in an AVL tree is known as double rotation?
Options :

1. # LL and RR

2. % LRand LL

3. ¥ RL and RR

4. ¥ LR and RL



Question Number : 170 Question Id : 2752284693 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T.41.Ud. < H B W1 AT GIeRl ACIH Heardl g2
Options :

1. % LL d4TRR

2. % LRAYUTLL

3. % RLdYTRR

4. % LR dUTRL

Question Number : 171 Question Id : 2752284694 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Consider the following arrays of elements 289, 219, 250, 217, 212, 215, 22, 25, 27, 211, 26, 29, 300. What is the minimum number of
interchanges needed to convert it into max-heap?

Options :
1. % 4
2.% 5
3.% 2
4,943

Question Number : 171 Question Id : 2752284694 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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ST B BT T2

Options :

1. % 4

2. %5

3. %2

4.9 3




Question Number : 172 Question Id : 2752284695 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Sort the following list using Radix sort algorithm.

329, 457, 839, 436, 720, 355, 657

What is the output of the algorithm after 2nd pass?
Options :

1. % 720, 355, 436, 457, 657, 329, 839

2. % 720, 329, 436, 839, 355, 457, 657

3. % 329, 355, 436, 457, 657, 720, 839

4. % 355,329,457, 436, 720, 657, 839

Question Number : 172 Question Id : 2752284695 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SR Wi TRNNUH BT STANT BP9 Y B HHGG DI

329, 457, 839, 436, 720, 355, 657

T8 U & 91E TEIRYA $T 33eYe 1 82
Options :

1. #® 720, 355, 436, 457, 657, 329, 839

2. % 720, 329, 436, 839, 355, 457, 657

3. #® 329, 355, 436, 457, 657, 720, 839

4. % 355,329, 457,436, 720, 657, 839

Question Number : 173 Question Id : 2752284696 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Sort the following list using selection sort algorithm.



H, VA, TL,N, K

What is the output of the algorithm after 3rd pass?
Options :

.¥ A VHTLN,K
2.YAHKTLN,V

3.% AV, T,H L, N,K

4. % AT, H,K,L,N,V

Question Number : 173 Question Id : 2752284696 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RyaRM AI¢ THNRNUH BT ST HRep (9 ! D! HHS PR
H, VA T, L N K

TR U & §TG TENINYH 6T 3T3ege 71 62
Options :

I.% A VH T,L N, K

2. A H K, TL,N,V

3.% AV, T,H L N, K

4.% AT, H,K,L,N,V

Question Number : 174 Question Id : 2752284697 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Office Automation System deals with which of the following?

I. Word processing
II. Annual budgeting

Options :

1. ¥ Only I

2. % Only II

3. % BothIandII



4. % Neither I nor 11

Question Number : 174 Question Id : 2752284697 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3Tty ST Ritew Fafafed # § foaw et 82

1. 7S U
1. UI37e Solfe

Options :

1. ¥ $Had |

2. % Had Il

3. % [ UGl
4. % I I

Question Number : 175 Question Id : 2752284698 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following are the correct examples of Management Information System?

I. Train reservation with the help of IRCTC.
II. Bank operations electronically with a distinguish payment gateway.
III. Logistics management application to streamline the transportation system.

Options :

1. #® Tand II

2. % Tand III
3.9 1, Il and 111
4. % Il and IIT

Question Number : 175 Question Id : 2752284698 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFufefead & 9 &9 SaeHe SThERH RIeH & It 3SRl 82




I. 31TS. 3R &1 . B TgrIdr ¥ ¢ SRET|
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Options :

1. % 1dYT 11

2. % T dYTIII
3.9 1 I dYUTIII
4, % T dYUT I

Question Number : 176 Question Id : 2752284699 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
protocol is used for starting computers from the network.

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. SMTP

2. TCP/IP

3. BOOTP

4. FTP

Question Number : 176 Question Id : 2752284699 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

NebTd BT ITANT Aeddh J HHER Y& B & g T ST g |
Note: For this question, discrepancy is found in question/answer. So,this

question is 1gnored for all candidates.
Options :
1. SMTP




2. TCP/IP
3. BOOTP
4. FTP

Question Number : 177 Question Id : 2752284700 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
GPRS offers end to end packet switched data transfer service in

L. point to point

II. point to multipoint
Options :

1. % Only I

2. % Only IT

3. % Both I and I

4. % Neither I nor II

Question Number : 177 Question Id : 2752284700 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
oft . emR . T TS ¢ US Udhe s 3T Tiaw a1 &l Y& Fral g

I1. Uigc ¢ Aeeluise
Options :

1. % PHadl

2. % Had Il

3. 1AUT ISl
4. % 1B

Question Number : 178 Question Id : 2752284701 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following is NOT the example of emissive display?
Options :

1. ¥ Liquid crystal device

2. # Plasma panels

3. ® Thin-film electroluminescent display

4. ¥ Light emitting diodes

Question Number : 178 Question Id : 2752284701 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fafafed @ 3 o a1 3R fswa &1 Iamsru 18 82
Options :

1. ¢ foifs fobeed fSarsd

2. % TH U

3. % {3 fher saaieyfiye feea

4. % qgc SAfT SMAIe

Question Number : 179 Question Id : 2752284702 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the RGB co-ordinates of a colour at (0.25, 0.65, 0) in CMY space?
Options :

1. % (0.75,0.25, 1)

2. % (0.85,0.25,0)

3. % (0.65,0.25,0)

4.+ (0.75,0.35, 1)

Question Number : 179 Question Id : 2752284702 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
CMY 38T H T HT (0.25, 0.65, 0) TR TP [T HT RGB B-3Hife-c 182



Options :

1. % (0.75,0.25, 1)
2. % (0.85,0.25,0)
3. % (0.65,0.25,0)
4.4 (0.75,0.35, 1)

Question Number : 180 Question Id : 2752284703 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Consider a rectangular window whose lower left hand corner is at (-3, 1) and upper right hand corner is at (2, 6). What is 4 bit region code for
endpoint of line PQ having co-ordinates (-4, 2) and (-1, 8)?

Options :

1. % P— 0001, Q — 0001

2. % P—1010,Q — 1001

3. P— 0001, Q — 1000

4. % P — 0000, Q — 0110

Question Number : 180 Question Id : 2752284703 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH IATHR fars) R faaR &3 fSgeT A S &1 (43, 1) W SR ST AW D (2, 6) W B | HI-3ifee (4, 2) 3R (-1, 8) aTelt
@1 pQ & Sifar g & forw 4 e e ple | B2

Options :

1. % P— 0001, Q — 0001
2. % P—1010,Q — 1001
3.4 P— 0001, Q — 1000
4, % P — 0000,Q — 0110

Discipline5
Group Number : 10



Group Id :

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Enable Mark as Answered Mark for Review and Clear Response :

Sub-Section Number :
Sub-Section Id :
Question Shuffling Allowed :

Question Number : 181 Question Id : 2752284704 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

275228159
0

120

No

No

0

20

No

Discipline5

275228252
1

Online
Mandatory
20

20

20

Yes

1
275228301
Yes

produces a rough outline of what the website will look like when it is done.

Options :

1. * Wirefalls
2. ¥ Wireframes
3. % Webframes
4. * Webflows



Question Number : 181 Question Id : 2752284704 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U@ I IR W EWAT TR Il 6 [ oF I8 a1 e af daerse o faa|
Options :

1. ¥ GRRBIH

2. ¥ TR

3. % J9hE

4. % JEUAIST

Question Number : 182 Question Id : 2752284705 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is a part(s) of a URL?

I. Protocol
II. Hostname
III. Directory and Filename

Options :

1. * Tand III

2. % Iland III
3. % Tand II

4.+ 1,11 and 111

Question Number : 182 Question Id : 2752284705 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafied & @ &1 9/A g 3R.Ud $1/db I R/8?

1. Ulcioid
1. 8Ie+H

111, ST | TS Bl




Options :

1. % 1dYUTII
2. % IIdYrIn
3.% 144t

4, 1, I dYT I

Question Number : 183 Question Id : 2752284706 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which type of knowledge is highly personal and hard to formalise?
Options :

1. # Theoretical knowledge

2. ¥ Tacit knowledge

3. % Concrete knowledge

4. # Explicit knowledge

Question Number : 183 Question Id : 2752284706 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

[ UPR B THHRT Al AfRTd § 3R 34 AUARS ¥ & S g2
Options :

1. % Sgifae TSR

2. ¢ <Rye SHBR

3. % Pifohe AHBRI

4. % TRIIRIC SIMBRI

Question Number : 184 Question Id : 2752284707 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following content(s) is/are included when reporting an experiment?



I. Apparatus used
II. Procedure

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 184 Question Id : 2752284707 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foft van 6t Raid s e Fafafed o 9 o < arh it wnfied o782

1. SIHTS oo 7 Ty
1. UroR

Options :

1. % Had 1

2. % HAd Il

3. ¢ 1 UGl
4. % qEIIATE I

Question Number : 185 Question Id : 2752284708 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following asymptotic notation is used to provide lower boundary constraints?
Options :

1.%¥0

2.% 0

3. 90

4. % x

Question Number : 185 Question Id : 2752284708 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad o @ ®F 91 TRITERR®E e TSR TES! By B UM $HRA & [o7g IUUNT faa SiTd g2
Options :

1.% 0

2.% 0

3.0

4, % x

Question Number : 186 Question Id : 2752284709 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Flowchart given in below figure represents which programming construct?

5
vy v

Options :

1. # Sequence structure
2. ¥ Decision structure
3. % Loop structure

4. % Case structure

Question Number : 186 Question Id : 2752284709 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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5
L | L |
v v
Options :
1. % e WRR
2. ¢ TSR TRR

3. % UIRR
4. % HYLRR

Question Number : 187 Question Id : 2752284710 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Pictorial representation of a program is known as
Options :

1. ¥ flowchart

2. % pseudocode

3. % code

4. % algorithm

Question Number : 187 Question Id : 2752284710 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foft oo & feeitga eomr . FeISar gl
Options :

1. ¢ T

2. % Wieldls

3. % B



4. ® T@NNGH

Question Number : 188 Question Id : 2752284711 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A discrete random variable X has the following probability distribution.

X 1 2 3 4 5 6 7
P(X)| K |2K | 2K | 3K | K2 | 2K2| TK2+ K

What is the value of K?
Options :

1
1. = 30

1
20

Question Number : 188 Question Id : 2752284711 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

s feTpie Yeu altuad x A Rufifad uiitied faru g1



X 1 2 3 4 . )
P(X)| K |2K | 2K | 3K | K2 | 2K?| TK2+ K

Lh
=
|

K &1 HH 1 82
Options :

1
| % 30

1
20

Question Number : 189 Question Id : 2752284712 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Two balls are drawn at random with replacement from a box containing 10 blue and 8 pink balls. What is the probability that both the balls are
pink?
Options :
4

1. = 9

16



64
3 ® 21

8
4. % 81

Question Number : 189 Question Id : 2752284712 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

10 =Tl 3R 8 el el aTel Sl o URITIT o 1Y &1 iG] &1 ATefasd U ¥ Tl Siidl ¢ | Gl 7] o Tare g $i a1 Wil g2

Options :
4

1. = 9

16

64

3 % 8l

Question Number : 190 Question Id : 2752284713 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the value of f(5) by newton’s backward difference form of interpolating polynomial for the data?



X
f(x)
Options :

1. % 13.125
2. % 8.0625
3. ¥ 10.0625
4. % 11.125

h |
[we]
[
| o]
[y
[a)

Question Number : 190 Question Id : 2752284713 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST & oY SerUIfeRT SgUS & e & dhas [Shd BiH gRT £(5) BT HIF T 82

4 | 6| 8
8 |12 ] 16

X
fi(x)
Options :

1. # 13.125
2. % 8.0625
3.4 10.0625
4. % 11.125
Sub-Section Number : 2

Sub-Section Id : 275228302
Question Shuffling Allowed : Yes

a2

Question Number : 191 Question Id : 2752284714 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is/are the characteristic(s) of learner — centered approach?

I. Students learn from interaction with their peers.
II. Opportunities are provided to the students for questioning, exploration and experimentation.

Options :



1. * Only I

2. % Only II

3. % Both I and II
4. # Neither I nor II

Question Number : 191 Question Id : 2752284714 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Prffad & 9 oH 9/ srddl - Sfed SUNE 1/ fden g/

1. faemdf 3o geurfad & gy e fpar 4 Hiwd g
11. faenfiat &1 Ut gea, 3a=Iur HA 3R TR R4 & SaWR IUas BRI 9d g |

Options :

1. % FHadl
2. % Had Il
3. ¢ 1 AU Gl
4. % qGIIATRIII

Question Number : 192 Question Id : 2752284715 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following combination(s) is/are NOT correct?
Options :

1. # Cassette — Audio aid

2. # Graphs — Visual aid

3. ¥ Television — Visual aid

4. % Radio broad casts — Audio aid

Question Number : 192 Question Id : 2752284715 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Prffad & 9 S 9/ IaeH I8 T8l 2/



Options :

1. % HIe - Y gD It

2. ® Y% — TG Ygash Jradlt

3. ¢ Colifdo - E%9 Tgad e

4. % IS UGRUT - T TeID ATHUT

Question Number : 193 Question Id : 2752284716 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How peer — assessment helps students?

I. In consolidating their learning through dialogue and interaction with their peers.
II. In learning how to give and receive constructive, explicit feedback based on clear criteria.

Options :

1. % Only I

2. % Only II

3. ¥ Both I and 11
4. ¥ Neither I nor II

Question Number : 193 Question Id : 2752284716 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TeuIfeal gRT 3ea- el &t fog YR Tgradl Hdl 82

1. g3l & 1Y aIdiard 3R IRER fobdn b 3= 3ifTH &Y Tofed & H|
I1. 9% YRgA ¥ o T AES! WR SeTiad TeHTed, G Ufayf® ol €t aul uTe &t Sl 8 |

Options :

1. % Hadl
2. % HAd Il
3. ¢ 1 UGl
4. % qEIIATE I




Question Number : 194 Question Id : 2752284717 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Through the process of standardization which of the following properties of achievement tests is/are ensured?

I. The test items used are purposefully designed to measure a clearly defined achievement domain.
II. A standardized procedure of administering, scoring and interpreting the results of the test are followed.

Options :

1. * OnlyI

2. % Only II

3. % Both I and II
4. # Neither I nor II

Question Number : 194 Question Id : 2752284717 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

MGG &1 Ufohar & H1egd § Iuafs Tiemn &1 fFafafad § & oF w1 1or gffad foeranfet smarend g/g?

1. F 0 I gRUINT Iuafs &5 &1 19+ - & o SUINT fhT ST aTd URefue) &1 I¢Ragu ¢ 3 fewg farar srar g |
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Options :

1. % Had ]

2. % HAd I

3. ¢ 1YL ST

4, % A IAIBI

Question Number : 195 Question Id : 2752284718 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Children’s towards learning language play an important role in language acquisition.

I. motivation
I1. self confidence
II1. curiosity



Options :

1. # Il and III
2. % Only I

3. % TandIII

4. % 1, 1I and III

Question Number : 195 Question Id : 2752284718 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HTOT S{Tgur & TS S1fRTH & Ut faenmeff /et 38H YA AUTda/AyTd 8/ |

1. ffHTRO
11. 3THOY™

1. I

Options :

1. % I dYTII
2. % Had |

3. % 1TdYT I
4, 1, 11 dYTIII

Question Number : 196 Question Id : 2752284719 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Metaphor is one of the literary devices. Which of the following is/are the example(s) of metaphor?

I. Camels are found in the deserts.
II. The camel is the ship of the desert.

Options :

1. % Only I

2.9 Only II

3. % BothIandII
4. ¥ Neither I nor II



Question Number : 196 Question Id : 2752284719 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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1. $e A # ure o §
11. S¢ IR BT SR B
Options :

1. % Had 1
2. ¥ Had Il
3. % [ QYT gHl
4. % GBI

Question Number : 197 Question Id : 2752284720 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following combination(s) is/are correct?

I. Informative literature — Dictionary
II. Creative or imaginative literature — Novels

Options :

1. ® Only I

2. % Only II

3. % BothIand II
4. % Neither I nor II

Question Number : 197 Question Id : 2752284720 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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1. G TS e — TUsahIy
I1. T HD Il Heu-dD Ao — ST
Options :

1. % Had 1
2. % HAdII
3. ¢ 1 AU Gl
4. % qEIIATR I

Question Number : 198 Question Id : 2752284721 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following are the types of performing arts?

I. Theatre
II. Music
I1I. Puppetry

Options :

1. % I, II and III
2. % Il and III
3. % Tand II

4. % Tand III

Question Number : 198 Question Id : 2752284721 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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1. RATAT
11, 99id

111. HSYdal

Options :
1.« 1, I dUT 111
2. % IIdYTIII



3. % 1dUT
4. % TdYT I

Question Number : 199 Question Id : 2752284722 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is/are the status indicator(s) of Gender?

I. Sex ratio
II. Education
I11. Health

Options :

1. # Iand II

2. % Il and III
3.9 1,11 and III
4. % Only I1I

Question Number : 199 Question Id : 2752284722 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Prafied & D &1 91/ Sk &1/ (U hdd 2/e?

1. feT ergura
11. TR
I11. XY

Options :

1% IdUT

2. % I dYTIII
3.9 1 I dYUTIII

4. % Had III

Question Number : 200 Question Id : 2752284723 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Which of the following is/are the objective(s) of formal and non-formal education?

I. Aim at improving the quality and raising the living standards of life.
I1. Contribute to the process of empowering girls through inculcating the values, attitudes and other life skills.

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 200 Question Id : 2752284723 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Had |

2. % Had Il

3. ¢ 1 AU Gl

4. % GBI



